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Question Number : 1 Question Id : 6009299848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

DEG, FGI, HIK,  ,LMO
Options :

1. ¥ JKM

2. % JKL

3. % JKI

4. % JLN

Question Number : 1 Question Id : 6009299848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R §aan ¥ Jud Ug Jrd e

DEG, FGL HIK,  ,LMO
Options :

1. ¥ JKM

2. % JKL

3. % JKI

4, % JLN

Question Number : 2 Question Id : 6009299849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

B2Y, D4W, H8S,
Options :

1. % L120

2. % P16Q

3. ¥ P16K

4. % K120

Question Number : 2 Question Id : 6009299849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad saen & qu ug I1d &

B2Y, D4W, H8S,
Options :

1. # L120

2. % P16Q

3. ¥ PI6K




4. % K120

Question Number : 3 Question Id : 6009299850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % ZYXWV
2. % PONML
3. # KJIHG
4. ¥ FDCAB

Question Number : 3 Question Id : 6009299850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawmed & 9 & T (Y dRid & 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. # ZYXWV

2. ¥ PONML

3. % KJIHG

4. ¥ FDCAB

Question Number : 4 Question Id : 6009299851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ ACCEPT : TEPCCA
2. % DEGREE : EERGED
3. ¥ CREDIT : TIDERC



4. % LEADER : REDAEL

Question Number : 4 Question Id : 6009299851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & T (Y dRid 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 I 3T 5|
Options :

1. ¥ ACCEPT : TEPCCA

2. # DEGREE : EERGED

3. # CREDIT : TIDERC

4. #* LEADER : REDAEL

Question Number : 5 Question Id : 6009299852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

AZ :7ZA ::EG:?
Options :
1. % VU
2.¥ VT
3. % GF
4. ¥ PN

Question Number : 5 Question Id : 6009299852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed T 99 B S iR UG ¥ 34T UHR ¥ Yafdd g o JhR ¥ 3R UG Ugd Ug ¥ Haifed g

AZ:ZA :EG:?
Options :
1. % VU
2.9 VT




3. % GF
4, % PN

Question Number : 6 Question Id : 6009299853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

ADG : BFJ :: ?
Options :

1. # LMN : OPQ
2. ¥ ZND : APG
3. % DGH : EFI
4. % RTV:QSU

Question Number : 6 Question Id : 6009299853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ADG :BFJ :: ?
Options :

1. ¥ LMN : OPQ
2. ¥ ZND : APG
3. % DGH : EFI
4. % RTV : QSU

Question Number : 7 Question Id : 6009299854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:

1250, 500, 200, 80, 30



Options :
1. % 1250
2. % 500
3. % 80
4. % 30

Question Number : 7 Question Id : 6009299854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad e Saan § Tad S I1d B

1250, 500, 200, 80, 30
Options :

1. % 1250

2. % 500

3. % 80

4. % 30

Question Number : 8 Question Id : 6009299855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

15:210 :: 33:?
Options :

1. ¥ 1056

2. % 995

3. % 999

4. % 1089

Question Number : 8 Question Id : 6009299855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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15:210:: 33:?
Options :

1. ¥ 1056

2. % 995

3. % 999

4. % 1089

Question Number : 9 Question Id : 6009299856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pawan, Akash, Ritesh, Sourav, Tanmay, Umang, Vikas and Wasim are eight friends sitting in a merry go round facing the centre.
Wasim is on the immediate left of Pawan but is not the neighbour of Tanmay or Sourav. Umang is on the immediate right of Akash and Vikas is
the neighbour of Tanmay. Ritesh is to the immediate left of Tanmay and the immediate right of Umang. What is the position of Sourav?

Options :

1. ¥ Immediate left of Akash

2. % Second to the right of Umang
3. % Immediate left of Pawan

4. ¥ Between Akash and Umang

Question Number : 9 Question Id : 6009299856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3D & Bl d1¢

2. % JUT S a4 3R I ORI
3. % g9 & 31 91U

4. % ITHTY 3R IJHT & d=




Question Number : 10 Question Id : 6009299857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five friends Anjali, Malini, Riya, Lisa and Disha go to a club. Anjali is twice as old as Malini. Riya is half of the age of Malini. Anjali's age if
half that of Disha's and Riya is twice as old as Lisa. Only the youngest person is below 18 years and hence is not allowed inside the club. Find
out who is not allowed to go in the club.

Options :
1. * Disha
2. * Riya
3. % Lisa
4. % Anjali

Question Number : 10 Question Id : 6009299857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fa=m

2. % fr

3. ¢ fern

4. % 3fcifel

Question Number : 11 Question Id : 6009299858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by two conclusions. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1: All data is raw.
Statement 2: No information is raw.
Statement 3: All information is caselet.



Conclusion I: Some data are information.
Conclusion II: Some raw is caselet.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. ¥ Neither I nor II follows

Question Number : 11 Question Id : 6009299858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had [ SR Hal §

2. % HAd [1 IR0 Bl §

3. % [ 3R 1 G AR a’d §
4. ¢ T 1 3R TG I 3RO BT §

Question Number : 12 Question Id : 6009299859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: Money plants have thin leaves and requires a lot of water.



Conclusion I: Plants with thin leaves requires lot of water.
Conclusion II: Money plants cannot be grown in places having scarcity of water.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. # Neither I nor II follows

Question Number : 12 Question Id : 6009299859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had [ IR0 &l §

2. ¢ I 11 TRV BT §

3. % [ 3R 1 G SFARUI &R B
4. % 1 3R B 11 STARYI Il §

Question Number : 13 Question Id : 6009299860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:

121, 169, 289, 361, 529, 576
Options :
1. % 529



2. % 361
3. % 289
4. % 576

Question Number : 13 Question Id : 6009299860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRaa e gadr o el TReAT 1d -

121, 169, 289, 361, 529, 576
Options :
1. % 529
2. % 361
3. % 289
4. ¥ 576

Question Number : 14 Question Id : 6009299861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

20:420::30:7?
Options :

1. ¥ 930

2. % 995

3. % 999

4. * 1089

Question Number : 14 Question Id : 6009299861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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20:420::30:7?
Options :

1. % 930

2. % 995

3. % 999

4. % 1089

Question Number : 15 Question Id : 6009299862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between quadrilaterals, parallelogram and hexagon?
Options :



4. %

Question Number : 15 Question Id : 6009299862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & I &1 91 99 oW Iqye, TAR IgHs 3R TCYS & g & JaY BT oy 35T Ui HRdl g2

Options :

©o0

2. %

QO
. O



4. %

Question Number : 16 Question Id : 6009299863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the sets given in the options is best represented in the given diagram?

@©Je

Options :

1. # Fathers, Brothers, Grandfathers
2. # Colour, Black, Magenta

3. % Pen, Paper, Stationery

4. ¥ Fruits, Avocado, Cabbage

Question Number : 16 Question Id : 6009299863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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@©Je

Options :

1. % fOdr, WTs, aTal

2. % 7, BIdl, A

3. % A, HII, AG--IHA
4. ¢ Bd, T eRT, gt

Question Number : 17 Question Id : 6009299864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set of six figures is given, the first of which is unnumbered and represents the beginning of the series. The series will be established if the
positions of two figures are interchanged. The number of the earlier of the two figures is the correct answer.
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Options :
1. %2
2.% 3
3.1
4, % 4

Question Number : 17 Question Id : 6009299864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %2
2.% 3
3.1
4. % 4

ot
o]
L

—
m

Question Number : 18 Question Id : 6009299865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?

LO|©
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Question Number : 18 Question Id : 6009299865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 6009299866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cube of side 8 cm is painted with three different colours on opposite faces, as shown. If it is cut into cubical blocks each of side 2 cm,
then find the number of cubes which have only two painted sides.
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/./ / /. b ] —> Pink color
e/0/0/0 PJ
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Options :
1. ® 26
2.9 24
3. % 32
4. % 18

Question Number : 19 Question Id : 6009299866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 26
2.9 24
3. % 32
4. % 18

Question Number : 20 Question Id : 6009299867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and punched as shown in the figure. Choose the figure which closely resembles the unfolded form of figure Z.
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Question Number : 20 Question Id : 6009299867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@&n%gﬁﬁ@mwajﬂm,wqmmﬁmslﬂm%aﬁié‘q’mw%’l T8 B BT TG B i MBI Z b TSt Al T T I A
|

P
- 2

Options :




o0
o0
VA A
oo
o0
3 Fay A
O
o
4, % e i
General Awareness
Group Number : 2
Group Id : 600929391
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 600929546
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929652
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6009299868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following folk music is popular in Goa? This music usually has a quick rhythm and has themes from everyday Goan life.
Options :

1. ®* Bhatiali

2. % Kajari

3. ®* Sohar

4. ¥ Dulpod

Question Number : 21 Question Id : 6009299868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & a1 die Tid Mar § Aot 82 39 Tid & SHaR IR dRd T8 gldl § 3R 399 a1 & JoR{ & Sffd & e ald o |

Options :

1. % yrfegrat
2. % DHoR
3. % Wig”

4. g




Question Number : 22 Question Id : 6009299869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Rongali Bihu marks the Assamese New Year and the beginning of the agricultural season. It is the festival of merriment and feasting and is
celebrated for days.

Options :
1. # three
2. % five
3. % seven

4. *# ten

Question Number : 22 Question Id : 6009299869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % diH

2. % U

3.¥ Id

4. % oY

Question Number : 23 Question Id : 6009299870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the National Bank for Agriculture and Rural Development (NABARD) formed?
Options :

1. #® 1975

2. 9% 1982

3. % 1991

4. % 1989



Question Number : 23 Question Id : 6009299870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST B SR ATHT AT o (FATETS) BT 713 B T 7T U2
Options :

1. #® 1975

2. ¥ 1982

3. % 1991

4. % 1989

Question Number : 24 Question Id : 6009299871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Nirmala Sitharaman proposed a grant of to the Government of Goa for the celebrations of 60
years of liberation.

Options :

1. # Rs 500 crores
2. # Rs 200 crores
3. % Rs 400 crores
4. ¥ Rs 300 crores

Question Number : 24 Question Id : 6009299871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 500 PRS SUY

2. % 200 PRS BUY

3. % 400 PRIS BUT

4. ¥ 300 BRUS SUY



Question Number : 25 Question Id : 6009299872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is also known as 'white vitriol'?
Options :

1. # Sulphuric Acid

2. % Zinc Sulphate

3. #% Sodium Carbonate

4. % Calcium Carbonate

Question Number : 25 Question Id : 6009299872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 ford arge fafesiiear & A ¥ ot ST ST 82
Options :

1. ® TP

2. ¢ TSI ethe

3. % Hf$uy Bra-e

4. % HiH HIEHT

Question Number : 26 Question Id : 6009299873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The members of rhodophyceae are commonly called algae.
Options :

1. % black

2. % green

3. ® brown

4. ¥ red

Question Number : 26 Question Id : 6009299873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PIait

2. % gRa

3. % AR

4. ¢ dld

Question Number : 27 Question Id : 6009299874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers is a tributary of the Yamuna river, starting from Madhya Pradesh?
Options :

1. ¥ Chambal

2. % Kosi

3. ¥ Gandak

4. % Son

Question Number : 27 Question Id : 6009299874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & 3 o W@ ¢ 9gA1 7¢) &) GgrR el 7, O 78 R 3 R gid o7
Options :

1. ¢ Tl

2. % Bl

3. % T8®

4. % GH

Question Number : 28 Question Id : 6009299875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Saser Muztagh range is the easternmost subrange of range.
Options :

1. # Western Ghats

2. % Eastern Ghats

3. # Vindhayas

4. ¥ Karakoram

Question Number : 28 Question Id : 6009299875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR GOTaRT oA UdaHTe @1 gaad Il B
Options :

1. % gfgetgre
2. % gdldre
3. % fdeg

4. ¥ PRIGRA

Question Number : 29 Question Id : 6009299876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Poona Seva Sadan was founded by G. K. Devadhar & Ramabai Ranade in
Options :

1. % 1909

2. % 1915

3. % 1912

4. % 1924

Question Number : 29 Question Id : 6009299876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T e DI RITIAT i, . GaR 3R IATETR IS GRI T Pt TS |




Options :
1. ¥ 1909
2. % 1915
3. % 1912
4. % 1924

Question Number : 30 Question Id : 6009299877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Battle of Bhopal, was fought in between the Maratha Empire and the combined army of the Nizam and several Mughal
generals.

Options :
1. #® 1723
2.9 1737
3. % 1735
4. % 1746

Question Number : 30 Question Id : 6009299877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIUTd &1 g, ARTST AHTT MR e SR Fs i Jrafad &t Ggad 91 & o9 ERSIRIIRI
Options :

1. % 1723

2.9 1737

3. % 1735

4. % 1746

Question Number : 31 Question Id : 6009299878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following founded the Fort William College at Calcutta?
Options :



1. # Lord Hastings

2. # Lord Dalhousie
3. % Lord Wellesley
4. # Lord Curzon

Question Number : 31 Question Id : 6009299878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad o 9 forda weta | WIC faferad icis o1 RITGAT B12
Options :

1. % A1 gRéw™

2. % TS Aol

3. ¢ qle dail

4. % QIS BoiA

Question Number : 32 Question Id : 6009299879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Oscars 2021 for 'Best Actress in a Leading role'?
Options :

1. % Carey Mulligan

2. % Andra Day

3. % Frances McDormand

4. ¥ Viola Davis

Question Number : 32 Question Id : 6009299879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRaa & I fooem st YT & 9a98 SfimET & forg siams 2021 Siar

Options :

1. % B gfer™



2. % 3fiaTS
3. ¢ TiAg AP SRAS
4. % groven Sfag

Question Number : 33 Question Id : 6009299880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Long Walk to Freedom' is an autobiography of
Options :

1. ¥ Muhammad Ali

2. ¥ Nelson Mandela

3. % Mark Twain

4. # Winston Churchill

Question Number : 33 Question Id : 6009299880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T di=1did ¢ hied' B AMHDUT B
Options :

1. % HgHC el

2. ¢ A He el

3. % A ¢

4. % fg=yge afdd

Question Number : 34 Question Id : 6009299881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Army signed a Memorandum of Understanding with & National Integrity and Educational Development Organisation
(NIEDO) for Ladakh Ignited Minds project in April 2021.

Options :
1. # Bharat Petroleum Corporation Limited
2. # 0Oil and Natural Gas Corporation Limited



3. ¥ The Energy and Resources Institute

4. ¥ Hindustan Petroleum Corporation Limited

Question Number : 34 Question Id : 6009299881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR 77 30 2021 H TERT U S AL S URTSHT & g 3R AT NS TS TIH A STATHE NI & 1Yy
U U IR gXIeR fhu|

Options :

1. ® YR USIarad HIURTH foftes
2. % dd U4 UIpfas 19 fm fafies
3. % ol 3R IgTeH T

4. ¢ T Uciforgd SIaRRH faftes

Question Number : 35 Question Id : 6009299882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SpaceX, on May 5, 2021, successfully launched and landed it's Starship without any explosion for the first time.
Options :

1. % SNI18

2. % SNI10

3. % SN13

4. ¥ SNI15

Question Number : 35 Question Id : 6009299882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WU F 5 7%, 2021 DI Ugah aR fom7 fordt fawpie & 3o R & IHAAgdS drd fbar 3R YfH IR IR
Options :

1. % SNI8

2. % SNI10




3. ¥ SNI3
4. % SN15

Question Number : 36 Question Id : 6009299883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states launched the YSR Zero Interest Crop Loan Scheme for farmers on 20th April 2021?
Options :

1. # Gujarat

2. ¥ Andhra Pradesh

3. % Bihar

4. # Rajasthan

Question Number : 36 Question Id : 6009299883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 ford I3 7 20 3151 2021 BT fHAMI & T YSR IR TS BT FH0T AT IRE B2
Options :

1. * J[SRId

2. ¢ 3 UG

3. % fagR

4. % TR

Question Number : 37 Question Id : 6009299884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of 'Joint Sitting of two houses of Parliament,’ in the Indian Constitution is borrowed from the Constitution of
Options :

1. ®* Germany

2. % Japan

3. % United States of America



4. ¥ Australia

Question Number : 37 Question Id : 6009299884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TG T UG & &l G&-1 b Ggad 96@' B YR & G F YR A L B
Options :

1. % ST

2. % N4

3. % Yo ST SARBT

4. ¢ 3fRfern

Question Number : 38 Question Id : 6009299885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A state of emergency can be declared in any state of India under article on the recommendation of the governor of the state.
Options :

1. % 363

2. % 349

3. % 352

4. % 356

Question Number : 38 Question Id : 6009299885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S & ITUTe Bt RIGINGT TR TG o dgd YR & favat Ht I H SUTdhIal "I foedr off gl g |
Options :

1. % 363

2. % 349

3. % 352

4.9 356




Question Number : 39 Question Id : 6009299886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the 'Laureus World Sportswoman of the Year 2021'?
Options :

1. # Breanna Stewart

2. % Naomi Osaka

3. % Brigid Kosegi

4. ¥ Wendie Renard

Question Number : 39 Question Id : 6009299886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 forem @iy 96 WIdTgh 3t € 34R 2021 Sitdr?
Options :

1. % fou &ad

2. ¢ TI3MHT 3P

3. % foils ot

4. % 4TS

Question Number : 40 Question Id : 6009299887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won a silver medal in women's freestyle in 2021 Senior Asian Wrestling Championships ?
Options :

1. # Ravi Kumar Dahiya

2. # Vinesh Phogat

3. ¥ Sakshi Malik

4. # Divya Kakran

Question Number : 40 Question Id : 6009299887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad & 9 forem 2021 TR TRERE et AftmaRn o afedr wiersd 8 I9d ues Sidn
Options :

1. % I3 pAR e

2. % {3 BT

3. ¢ el wfcrs

4. % fqT BHIHHA
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Question Number : 41 Question Id : 6009299888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

120 when multiplied to the cube of a number gives the product of the square of the square of the number and thrice the cube of two-fifths of the
number. Find the number when given that the number is greater than 0.

Options :
1.¥5
2. %10
3. % 15
4. % 20

Question Number : 41 Question Id : 6009299888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 120 P fHft e & T I T[0T o STl § off S U & 1 & aFf b1 UFHd U BT @ SR =1 & G1-9idd U & °9 &1 diF
THT ST & | T ST B 9= 1o e 0 W TS 6|

Options :
1.¥5
2. %10
3. % 15
4. % 20

Question Number : 42 Question Id : 6009299889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A remainder of 12 is found when a number is divided by each of 60, 72, 90 and 120. Find the minimum possible value of the number.
Options :

1. % 1092

2.9 372



3. % 732
4. % 1452

Question Number : 42 Question Id : 6009299889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farit TREAT B 60, 72, 90 3R 120 T F TP I fTAHTRTT 37 WR 12 T ATHA U BT 8 | 3 WA BT gATH GHT A J1d DR |
Options :

1. # 1092

2.9 372

3. % 732

4. % 1452

Question Number : 43 Question Id : 6009299890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 50 numbers is 100. Out of the 50 numbers, at the most, how many numbers may be greater than 100?
Options :

1.* 0

2. %1

3.9 49

4. % 40

Question Number : 43 Question Id : 6009299890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 TS BT SR 100 B 1 50 TSATS T , 1P F 4P, fara- T 100 T TG 81 Tl 62
Options :

1.* 0

2. %1

3.¥° 49

4. % 40



Question Number : 44 Question Id : 6009299891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three candidates reached the final of a competition and the winner is to be decided from voting. They received 25000, 37500 and 62500 votes
respectively. What percentage of total possible votes did the winning candidate get if 1/6th of the population did not vote?

Options :

1. % 44.44%
2. % 33.00%
3. ¥ 41.67%
4. % 66.67%

Question Number : 44 Question Id : 6009299891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I STieaR Uil o sifad =avur & ugd 3R Ader 3 faoidr &1 (o fasan ST 81 3= SHRT: 25000, 37500 3R 62500 A e | afg
SRS o 1/6th = Hda g1 {1 dl Siia- a7 SHIGaR &l $d JHTfdd Tl ol faam Ufa=rd Ui g

Options :

1. % 44.44%

2. % 33.00%

3. ¥ 41.67%

4. % 66.67%

Question Number : 45 Question Id : 6009299892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tuition fees of a school increased from Rs 36000 to Rs 72000 in a decade. What is the average increase in fees per year?
Options :

1. % 7.50%

2. % 8%

3. % 9%

4. ¥ 10%



Question Number : 45 Question Id : 6009299892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH S | U [qeTerd &1 FRI& B 36000 $UT F IGHR 72000 TUT B 715 | Ui a9 g H Sfied gfs 1 82
Options :

1. ® 7.50%

2. % 8%

3. % 9%

4.9 10%

Question Number : 46 Question Id : 6009299893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is sold for a profit of 260% on cost. If the cost increases by 80% keeping the selling price constant, then find the ratio of the new profit
and the selling price?

Options :
1. % 1:1
2.9 1:2
3. % 23
4. % 34

Question Number : 46 Question Id : 6009299893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B! AN TR 260% P AT TR o1 ST | | Tfe; fasha Jea &1 FRR 3@ a1Td & 80% 1 gf Bicit 7, Al 78 AT 31K fasha 7o &1
3{JUTd JTd B2

Options :

1. # 1:1

2.9 1:2

3. %23

4. % 3:4



Question Number : 47 Question Id : 6009299894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller bought 60 candies for Rs 10. How many should he sell for Rs 10 to make a profit of 25%?
Options :

1. #® 50

2. % 45

3. ¥ 48

4. % 54

Question Number : 47 Question Id : 6009299894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fashar 4 10 TUUH 60 dral WG 25% BT ATY SHfoid B o T I 10 FUY H forat st sat A1fge?
Options :

1. # 50

2. % 45

3.9 48

4. % 54

Question Number : 48 Question Id : 6009299895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of squares of 2 numbers is 5050 and the numbers are in the ratio of 9:11. Find the difference between the sum of the numbers and the square
of the difference of the numbers.

Options :
1. %5
2.% 10
3.0
4. % 20



Question Number : 48 Question Id : 6009299895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 TS & I BT TRT 5050 § 3R WAL 9:11 & SJUTd H g | A3 &b 1T 3R TG-S & 3R & I o &1 b 3feR J1d B |
Options :

1. %5

2. %10

3.0

4. % 20

Question Number : 49 Question Id : 6009299896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40% of a number is equal to 1/6th of another number, then what is the ratio of the 2 numbers?
Options :

1. % 2:7

2. % 12:5

3. % 5:6

4.9 5:12

Question Number : 49 Question Id : 6009299896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TS BT 40% GERT TSAT P 1/6 P SRI6R g, <11 2 GBS BT ST T 82
Options :

1. % 2.7

2. % 12:5

3. % 5:6

4.9 5:12

Question Number : 50 Question Id : 6009299897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rs 15000 becomes Rs 19965 in 3 years with compound interest. What is the rate of interest?
Options :

1. #® 5%

2. % 7.50%

3. % 8%

4.9 10%

Question Number : 50 Question Id : 6009299897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i ST & 1Y 15000 FUT 3 T H 19965 TUYT &1 ST & | ST &R &1 &7
Options :

1. %® 5%

2. % 7.50%

3. % 8%

4. % 10%

Question Number : 51 Question Id : 6009299898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nominal rate of interest is 90% per annum. What is the effective rate of interest per annum when the interest rate is compounded every 4
months?

Options :

1. ® 69.00%
2. % 89.70%
3. % 116.61%
4. % 119.70%

Question Number : 51 Question Id : 6009299898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TSl &1 Fioh o &R U T 90% & | OId 19T &R 8X 4 He 4 § dehqia BIdl g, o Ul a8 WHTAT 7ol &R &l g2
Options :

1. % 69.00%

2. % 89.70%

3. % 116.61%

4. v 119.70%

Question Number : 52 Question Id : 6009299899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A horse climbs down a mountain 60% faster than climbing up. If the distance to be covered one way is 180 kms, and climbing down time is 180
minutes, find the climbing up speed per hour.

Options :

1. * 30 kmph
2. % 36 kmph
3. % 37.5 kmph
4. % 40 kmph

Question Number : 52 Question Id : 6009299899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UIST UGTS TR TG ! ga H 60% doit I +Td Sa=dl ¢ | fe Tah aRWT IR D1 I &1 o1 aTeit gt 180 kms 8, 3R e IRA &1 T
180 e 8, dt ufd 9¢ SR =g &) TIfd J1d B

Options :

1. #* 30 kmph

2. % 36 kmph

3. ¥ 37.5 kmph

4. ® 40 kmph

Question Number : 53 Question Id : 6009299900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



X runs 20 km south, then turns right and runs 15km. He then turns right again and runs 40km. What is the minimum distance between his
original and current location?

Options :

1. # 20 kms
2. ¥ 25 kms
3. % 35 kms
4. # 30 kms

Question Number : 53 Question Id : 6009299900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 20 km GI0T P 3R GISdT &, iR T GSa1 8 3R 15 km GISdT ¢ | 98 fhR ¥ TT¢ 3T § 3R 40 km G1edl 8 | 9P Hd 3R dadH RIM
& o9 gAqH g3 T ]2

Options :

1. % 20 kms

2. % 25 kms

3. % 35 kms

4. % 30 kms

Question Number : 54 Question Id : 6009299901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can empty a pool in 30 hours while Pipes B & C require 15 & 10 hours respectively to fill the pool. If the pipes can only operate one at a
time and they are changed every minute from B to C and then from C to A and then back to B, then how long will it take to fill the pool?

Options :

1. ¥ 22 hours and 30 minutes
2. % 33 hours and 30 minutes
3. # 11 hours and 30 minutes

4. % 7 hours and 30 minutes

Question Number : 54 Question Id : 6009299901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T12U A Td B 30 ©¢ T el HR bl § SIdid UIgd B 3R C DI Id B U o [o70 HHRT: 15 3R 10 G BT ISl ¢ | G Irzd dhaa
ggﬁﬁé’rmmm%\?ﬁve%aﬁ%Bﬁc R B C Y A H 3R R 1o B & 9 fear San 8, O g &1 R4 § fba1 w9
?

Options :

1. ¢ 22 9¢ 3R 30 fiFTe
2. % 3379 3R 30 fiFe
3. % 119¢ 3R 30 fie
4. % 79 3R 30 e

Question Number : 55 Question Id : 6009299902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Santa completed 50% of a work in 9 days and balance was done by Banta in 15 days. In how many days can Banta do the work by himself?
Options :

1. ¥ 30

2. % 225

3. % 375

4, % 27

Question Number : 55 Question Id : 6009299902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iar 9 &1 & B BT 50% TR Al § SR AW 15 feAl & i gRT oo St 5| Sia fdvat fovam fot H o1 - uohdl 82
Options :

1. ¥ 30

2.% 225

3. % 375

4. % 27

Question Number : 56 Question Id : 6009299903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Find the slant height of a cone if the radius and height are in the ratio of 8:15 and they differ by 14 cm.
Options :

1. % 17 cm

2. % 255cm

3.9 34 cm

4. % 5] cm

Question Number : 56 Question Id : 6009299903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TP DI fadd SHams 71 B, Al BT iR Sams 8:15 % U H § 3R 31 14 cm &1 3R g
Options :

1. % 17 cm

2. % 255cm

3.% 34 cm

4. % 5] cm

Question Number : 57 Question Id : 6009299904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the ratio between the areas of 2 circles whose circumferences are in the ratio of 4:5.
Options :

1. % 4:5

2. % 8:10

3.¥16:25

4. % 5:4

Question Number : 57 Question Id : 6009299904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 Tl o ATl o ST BT SIATd JTd DY o] TR 4:5 F STAT A § |




Options :
1. % 4:5
2. % 8:10
3. ¥ 16:25
4, % 54

Question Number : 58 Question Id : 6009299905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the various particulars for a company over 5 years. Over the given time period, what percent of the total sales has been paid as
the delivery charges?

Particulars
Year
Purchases Sales Salary Bonus Delivery
2016 500 750 70 & 50
2017 600 430 a8 7 75
2018 200 00 60 7 51
2019 820 90 12 4 64
2020 900 1100 80 [ 92
Options :
1. % 6%
2. % 7%
3. % 7.5%
4. v 8%

Question Number : 58 Question Id : 6009299905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WT%Wsaﬁ@r&mmﬁﬁaﬁwmﬁﬁ%l 3 TS grarafy B fAdR0 Yo & U A Hd et o1 fara ufa=rd yiaE
a1 s?
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2016 500 750 T ] S0
2017 600 480 a8 7 75
2018 50O 500 60 7 51
2019 BEO 9 T2 4 [}
2020 GO0 1100 B0 1] a2

Options :

1. % 6%

2. % 7%

3. % 7.5%

4. ¥ 8%

Question Number : 59 Question Id : 6009299906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the number of students of a school scoring marks in different ranges, the highest marks being 100. What is the ratio of the
number of students scoring between 40-60 and between 60-80?

8 38 38

Number of students

50

0 and above 20 and above 40 and above 60 and above 80 and abowve
Marks

Options :



1. ¥ 16:13
2. % 87
3. % 2:1
4. % 4.3

Question Number : 59 Question Id : 6009299906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T femer & faftr AR & 3ic Ut o= aTdl BT o1 TRe il B, I=aH 3 100 B 1 40-60 3R 60-80 P st 3feb UT
P AT B B BT BT SIATd T 82
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0TI 20dRFW HIMFIW sdNFW sodRFTw
HE

Options :
1. ¥ 16:13
2. % 87
3. % 2:1
4. % 43

Question Number : 60 Question Id : 6009299907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the exports and imports for different countries. Which country's trade surplus matches the average trade surplus for all of
the countries? (Trade surplus = Exports - Imports)



B Imports B Exports

Exports and Imperts during a year
- 8EEEEE

Options :
1.% B
2.¥C
3.%D
4. ® B

Question Number : 60 Question Id : 6009299907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 9% faft <= & fafa SR Smrd &) <wifar |1 ford S=1 o1 U SR it =i & Sfid maR iRy & A W1l 82 (TR
SRy = ffd - 3mama)



= amara =i

o

£

E | T

3000

E 2000 -

% 1000 -

E - A B C E

m
Options :
1. % B
2.¥C
3.%D
4. % E
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Question Number : 61 Question Id : 6009299908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The new mother did great deal of research about the effects of vaccines.
Options :

1. ¥ The new mother did great

2. % deal of research about

3. % the effects of vaccines.

4. % No error

Question Number : 61 Question Id : 6009299908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The new mother did great deal of research about the effects of vaccines.
Options :
1. ¥ The new mother did great



2. % deal of research about
3. % the effects of vaccines.
4. ® No error

Question Number : 62 Question Id : 6009299909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities into classes because they believe that
this heterogenous grouping is advisable".

Options :

1. #® Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities
2. # into classes because they believe that

3. % this heterogenous grouping is advisable".

4. ® No error

Question Number : 62 Question Id : 6009299909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities into classes because they believe that
this heterogenous grouping is advisable".

Options :

1. ® Samir has repeatedly said that, "Educators try to put pupils of dissimilar abilities
2. % into classes because they believe that

3. % this heterogenous grouping is advisable".

4. ® No error

Question Number : 63 Question Id : 6009299910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Disaster has also befallen (many a golfers at this hole.)
Options :

1. ¥ many golfer at this hole.

2. % many an golfer at this hole.

3. % many a golfer at this hole.

4. # No correction required

Question Number : 63 Question Id : 6009299910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Disaster has also befallen (many a golfers at this hole.)
Options :

1. #* many golfer at this hole.

2. # many an golfer at this hole.

3. % many a golfer at this hole.

4. # No correction required

Question Number : 64 Question Id : 6009299911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Individual summon must be sent to the prelates and greater barons,) while the lesser barons hill be called together through the sheriffs and
bailiffs.

Options :

1. ¥ Individual summonses must be sent to the prelates and greater barons,



2. # Individually summon must be sent to the prelates and greater barons,
3. # Individual summons must be sent to the prelates and greater barons,

4. ® No correction required

Question Number : 64 Question Id : 6009299911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Individual summon must be sent to the prelates and greater barons,) while the lesser barons hill be called together through the sheriffs and
bailiffs.

Options :

1. ¥ Individual summonses must be sent to the prelates and greater barons,
2. # Individually summon must be sent to the prelates and greater barons,
3. # Individual summons must be sent to the prelates and greater barons,

4. ® No correction required

Question Number : 65 Question Id : 6009299912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

This excludes all possibility of innate ideas or any faculty akin to reason.
Options :

1. # consultative

2. # constructive

3. % conservative

4. ¥ intuitive

Question Number : 65 Question Id : 6009299912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice.

This excludes all possibility of innate ideas or any faculty akin to reason.
Options :

1. #* consultative

2. % constructive

3. # conservative

4. ¥ intuitive

Question Number : 66 Question Id : 6009299913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Even as the man tried to chase him away, the pit bull refused to release his grip on the little boy.

Options :

1. # audacious
2. % judicious
3. # conscious

4. % tenacious

Question Number : 66 Question Id : 6009299913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Even as the man tried to chase him away, the pit bull refused to release his grip on the little boy.

Options :

1. # audacious
2. % judicious
3. # conscious

4. % tenacious



Question Number : 67 Question Id : 6009299914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

When his parents moved to Italy in 1893, Einstein dropped out of school and renounced both his German citizenship and his Jewish faith.
P. He applied to study at the Zurich Polytechnic, an advanced Swiss technical institute.
Q. However, he failed the entrance examinations and was not accepted until spending a year of preparation at a Swiss secondary school.

R. Between 1896 and 1900, he participated in a teachers' training program at the Zurich Polytechnic, where he met his lifelong friends Marcel
Grossman and Michele Angelo Besso, as well as his first wife, Mileva Maric.

S. Following the completion of his program in 1900, Einstein went on to work as a teacher and tutor in a series of posts in Germany and
Switzerland.

He finally settled in Bern, Switzerland, in 1902, where he received a job as a technical expert in a patent office. In Bern, Einstein married Mileva
and the couple raised two sons together.

Options :

1. ®* PSRQ
2. % PRSQ
3. % PQRS
4. % PSQR

Question Number : 67 Question Id : 6009299914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

When his parents moved to Italy in 1893, Einstein dropped out of school and renounced both his German citizenship and his Jewish faith.
P. He applied to study at the Zurich Polytechnic, an advanced Swiss technical institute.

Q. However, he failed the entrance examinations and was not accepted until spending a year of preparation at a Swiss secondary school.



R. Between 1896 and 1900, he participated in a teachers' training program at the Zurich Polytechnic, where he met his lifelong friends Marcel
Grossman and Michele Angelo Besso, as well as his first wife, Mileva Maric.

S. Following the completion of his program in 1900, Einstein went on to work as a teacher and tutor in a series of posts in Germany and
Switzerland.

He finally settled in Bern, Switzerland, in 1902, where he received a job as a technical expert in a patent office. In Bern, Einstein married Mileva
and the couple raised two sons together.

Options :

1. # PSRQ
2. % PRSQ
3. ¥ PQRS
4. % PSQR

Question Number : 68 Question Id : 6009299915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Nonchalant
Options :

1. # Unconcerned
2. # Apathetic

3. % Anxious

4. % Unemotional

Question Number : 68 Question Id : 6009299915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Nonchalant
Options :

1. # Unconcerned



2. % Apathetic
3. ¥ Anxious

4. % Unemotional

Question Number : 69 Question Id : 6009299916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Compassion
Options :

1. # Benevolence
2. # Concern

3. % Sympathy
4. ¥ Animosity

Question Number : 69 Question Id : 6009299916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Compassion
Options :

1. # Benevolence
2. % Concern

3. % Sympathy
4. ¥ Animosity

Question Number : 70 Question Id : 6009299917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ Insidious
2. % TInscidus
3. % Inscidious

4. % Inscidous

Question Number : 70 Question Id : 6009299917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Insidious

2. % Inscidus

3. #* Inscidious

4. * Inscidous

Question Number : 71 Question Id : 6009299918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Prodigious

2. # Prodogious

3. % Prodogous

4. # Predogious

Question Number : 71 Question Id : 6009299918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Prodigious

2. # Prodogious



3. # Prodogous
4. ® Predogious

Question Number : 72 Question Id : 6009299919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cross your fingers

Options :

1. # An unbelievable tale, untrue story

2. # To make someone laugh

3. % Any difficult situation or obstacle

4. ¥ To hope that something happens the way you want it to

Question Number : 72 Question Id : 6009299919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cross your fingers

Options :

1. ® An unbelievable tale, untrue story

2. % To make someone laugh

3. # Any difficult situation or obstacle

4. ¥ To hope that something happens the way you want it to

Question Number : 73 Question Id : 6009299920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Back seat driver



Options :

1. #® Having to start all over again

2. % In abackward and forward motion

3. ¥ People who criticize from the side-lines, much like someone giving unwanted advice

4. ® Persons who are having different opinions

Question Number : 73 Question Id : 6009299920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Back seat driver

Options :

1. # Having to start all over again

2. % In abackward and forward motion

3. ¥ People who criticize from the side-lines, much like someone giving unwanted advice

4. ® Persons who are having different opinions

Question Number : 74 Question Id : 6009299921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Very attentive to and concerned about accuracy and detail
Options :

1. ¢ Fastidious

2. % Fatalist

3. % Fugitive

4. ¥ Feminist

Question Number : 74 Question Id : 6009299921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expressions given below.

Very attentive to and concerned about accuracy and detail
Options :

1. ¥ Fastidious

2. % Fatalist

3. % Fugitive

4. * Feminist

Question Number : 75 Question Id : 6009299922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who regards the whole world as his country
Options :

1. ¥ Cosmopolitan

2. # Coquette

3. # Contemporary

4. % Cynosure

Question Number : 75 Question Id : 6009299922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who regards the whole world as his country

Options :

1. ¥ Cosmopolitan

2. ®% Coquette

3. ¥ Contemporary

4. ¥ Cynosure

Sub-Section Number : 2



Sub-Section Id : 600929655
Question Shuffling Allowed : Yes

Question Id : 6009299923 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a watercraft that is capable of independent operation under
the sea. Submarines do not require support ships because submarines can renew their air and power supplies independently. Submersibles also
submerge and operate underwater, but they need the support of a larger vessel. Submersibles cannot renew their air and power supplies without
support. For this reason submersibles are usually smaller and cannot spend as much time underwater as submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was powered by rowing oars underwater. Though this craft
was originally designed for underwater exploration, it did not take long for inventors and makers of war to recognize the military potential of the
submersible. In 1648 Bishop John Wilkins wrote, “It may be of great advantages against a Navy of enemies, who by this may be undermined in
the water and blown up.” Over one-hundred years later, the first military submarine was ready to be deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in 1775, it was deployed by the Continental Army
during the American Revolutionary War. Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air and
power supplies independently; therefore, the Turtle is considered to have been a submarine and not a submersible. The Turtle was powered by
hand-cranked propellers and was named as such because it resembled a turtle. It held a single person, moved about three miles per hour in calm
water, and contained enough air to stay submerged for about thirty minutes. General Washington authorized an attack using the Turtle on a
British flagship blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix underwater explosives to the British

ship, but he failed. The Turtle was later destroyed by the British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

Sub questions

Question Number : 76 Question Id : 6009299924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the purpose of the first submersible?
Options :

1. # underwater military applications

2. # underwater stealth operations

3. #* underwater warfare



4. ¥ underwater exploration

Question Number : 77 Question Id : 6009299925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first documented submersible constructed?
Options :

1. % 1175

2. % 1648

3. ¥ 1620

4. % 1596

Question Number : 78 Question Id : 6009299926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Submersibles are larger than submarines.

2. ® Submersibles are capable of independent operations under the sea while submarines are not.
3. # Submarines operate underwater independently while submersible do not operate underwater.

4. ¥ Submersibles need the support of larger vessels to renew their air and power supplies.

Question Number : 79 Question Id : 6009299927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # The Continental Army deployed the first ever submarine in a war.

2. # The Turtle was different from other submersible as it didn't need any external support and hence it was called a submarine.
3. % The first ever submersible wasn't designed for military application.

4. ¥ Cornelius Drebbel designed the first submarine in 1775.

Question Number : 80 Question Id : 6009299928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which war was the Turtle first deployed?
Options :

1. ¥ American Revolutionary War

2. * Mexican-American War

3. % World War 1

4. % War of 1812

Question Id : 6009299923 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Do you know the difference between a submarine and a submersible? A submarine is a watercraft that is capable of independent operation under
the sea. Submarines do not require support ships because submarines can renew their air and power supplies independently. Submersibles also
submerge and operate underwater, but they need the support of a larger vessel. Submersibles cannot renew their air and power supplies without
support. For this reason submersibles are usually smaller and cannot spend as much time underwater as submarines.

The first documented submersible was constructed in 1620 by Cornelius Drebbel. It was powered by rowing oars underwater. Though this craft
was originally designed for underwater exploration, it did not take long for inventors and makers of war to recognize the military potential of the
submersible. In 1648 Bishop John Wilkins wrote, “It may be of great advantages against a Navy of enemies, who by this may be undermined in
the water and blown up.” Over one-hundred years later, the first military submarine was ready to be deployed.

The Turtle was the world’s first submarine used in combat. Designed by David Bushnell in 1775, it was deployed by the Continental Army
during the American Revolutionary War. Though the Turtle did utilize a support ship in combat, it was fully capable of renewing its air and
power supplies independently; therefore, the Turtle is considered to have been a submarine and not a submersible. The Turtle was powered by
hand-cranked propellers and was named as such because it resembled a turtle. It held a single person, moved about three miles per hour in calm
water, and contained enough air to stay submerged for about thirty minutes. General Washington authorized an attack using the Turtle on a
British flagship blockading New York Harbour. Sgt. Ezra Lee operated the Turtle and attempted to affix underwater explosives to the British
ship, but he failed. The Turtle was later destroyed by the British. Despite this failure, the Turtle is still remembered as the first submarine used
offensively during war.

Sub questions

Question Number : 76 Question Id : 6009299924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What was the purpose of the first submersible?
Options :

1. # underwater military applications

2. # underwater stealth operations

3. % underwater warfare

4. ¥ underwater exploration

Question Number : 77 Question Id : 6009299925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first documented submersible constructed?
Options :

1. % 1175

2. % 1648

3.9 1620

4. % 1596

Question Number : 78 Question Id : 6009299926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. # Submersibles are larger than submarines.

2. % Submersibles are capable of independent operations under the sea while submarines are not.
3. # Submarines operate underwater independently while submersible do not operate underwater.

4. ¥ Submersibles need the support of larger vessels to renew their air and power supplies.

Question Number : 79 Question Id : 6009299927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following statement is incorrect?
Options :



1. # The Continental Army deployed the first ever submarine in a war.

2. % The Turtle was different from other submersible as it didn't need any external support and hence it was called a submarine.
3. % The first ever submersible wasn't designed for military application.

4. ¥ Cornelius Drebbel designed the first submarine in 1775.

Question Number : 80 Question Id : 6009299928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which war was the Turtle first deployed?
Options :

1. ¥ American Revolutionary War

2. ¥ Mexican-American War

3. % World War 1

4. % War of 1812
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Question Number : 81 Question Id : 6009299929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashey &1 9u= B3 o fou U IfY-fawde Wsg & el IfY &1 fasweu 3|

Il_-j,+3ri?i?
Options :
1. #® HATdR
2. % HANR
3. % AR
4. ¥ AR

Question Number : 81 Question Id : 6009299929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdehey &1 9u= 3 o fou U IfY-fawde wsg & Ie! IfY &1 fasheu 3|

g +3{R
Options :
1. % HATd}
2. % HANR
3. % AR
4. ¢ AR




Question Number : 82 Question Id : 6009299930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fawedl & @ 39 fashey &1 9a= B3 o fou U I Weg & &1 IfY-fawde &1 faweu 3|
Q&RITUT
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 9& + YT

2. G&IT+300

3. 9& + U0l

4. &I +XUol

Question Number : 82 Question Id : 6009299930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fared &1 79 3 off 3T 77 TfY Trse & et IfY-fa=ye o1 faweu g

J&RIYYT
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 9& + gl

2. G&IT +300

3. 9&f + Uul

4. G&fT + quy



Question Number : 83 Question Id : 6009299931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & I 39 fawed &1 999 &3 o dgioe] THN & faUe &1 el fadhea g |
et § g forad -

Options :
1. % COIeH
2. ¢ TagT
3. % HER
4. % OIR[Y

Question Number : 83 Question Id : 6009299931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # O 39 fadwed &1 9g & o Igfog! T & faug &1 uel fased g |
e § g o -

Options :

1. % UM
2. ¢ 3T
3. % HOR
4. % QUR[Y

Question Number : 84 Question Id : 6009299932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fawmedl § 9 39 faded &1 999 ®< ol SUAT Weg T gl [dd e g
Options :

1. ® iddr

2. % FFCR

3. % Yy




4, ¥ ATHAT

Question Number : 84 Question Id : 6009299932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

77 faweal & Q 39 faed &1 999 B3 off SUW Usg H1 el fawed 3|
Options :

1. % Sfddr

2. % QMR

3. % Yyur

4. ¢ JATHAT

Question Number : 85 Question Id : 6009299933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 3, 9R fawedl § 3 39 f[ddhed &1 709 o Sl HIFS H AU T et & SR ITH YINdTdd Ha-TH &1 Jad 351 [Adhed g |
Options :

1. ¢ (2 HIaT T 331 I 8 |
2. % (%) fba- gamn 2

3. % (W) SH T

4. % I H ($O) WA |

Question Number : 85 Question Id : 6009299933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e us #, =R fased! # 3 I fadbed o1 = X ot DI H QT 7Y Weq &b TR ITH TeVaTded Jo-TH B Foy 3 fdehed |
Options :

1. ¢ () HoT T 3T AT 8 |

2. % (%) forem gaman 2

3.% (Y IH T

4. % R4 T (D) WA |




Question Number : 86 Question Id : 6009299934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl § 9 39 famed &1 98- &< Sl doiH eg T el [dded g
Options :

1. ¥ DY

2. % DIq

3. % 531

4. % Udl

Question Number : 86 Question Id : 6009299934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & Q39 fdshey &1 9u B3 S I et &1 Tg! f[dhed g
Options :

1. ¥ P[¥

2. % [+

3. % S8l

4, % Udl

Question Number : 87 Question Id : 6009299935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 9 39 faded &1 9= &< Sl 13T 7Y Xea-gi & W5t o ara faewed g
DPR- DI

Options :

1. % 1, AT
2. % TR, gt
3.+ g1y, g1t



4. % HUL UMY

Question Number : 87 Question Id : 6009299935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # 9 39 fawed o1 TgH & il f3U T Weg-g & gt 31 arer faded g
PR- BN

Options :

1. % O1, AT
2. % fobRT, g1l
3. ¢ BIY, gt

4. % pUL UMY

Question Number : 88 Question Id : 6009299936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fasen &1 9u= &3 o fau U faed vsg &1 fawed B
&y

Options :

1. % fa=mreran

2. ¢ foR

3. % TS

4. % 3[cipd

Question Number : 88 Question Id : 6009299936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 797 o3 o fau 77u fadiv 2rsg &1 fawey g
gau




Options :

1. % fa=mreran
2. ¢ faER
3. % s
4. % 3[cipd

Question Number : 89 Question Id : 6009299937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9a= B3 off faU T8 a1e & T uel & W &1 9o 33T fAsheu 3 |

9 o7 WR Agd T YT 99 T g |
Options :

1. % IRYIYdH

2. % fdrds

3. % TRTfqeENde®

4. ¥ TAAD

Question Number : 89 Question Id : 6009299937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 faehey &1 9u B3 o 3T T8 a1e & o uel & U &1 I 331 fasdheu 3 |

98 &1 1R Tg=1d ol U1 dd bl gafl |
Options :

1. % RYIdH

2. % MIdrae

3. ® TTfaeEde

4. ¢ VITTdD

Question Number : 90 Question Id : 6009299938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fasrey &1 999 o3 o iU 78 are & forg gy & e o1 o 3T fased | |

9g Tia I I UST &I |
Options :

1. % gryraAre

2. % fgugy

3. ¢ Tagrd

4. % Jhard

Question Number : 90 Question Id : 6009299938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fyeret & @ 39 fadey o1 T 3 off fau 7Tu are & forw gfty & Ae &1 e 31 faspeu 7|

g Tid § =Iel UST gI |
Options :

1. % gryraed

2. % fyugd

3. Tagrd

4. % Gopard

Question Number : 91 Question Id : 6009299939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fasen &1 9u= B3 off AU T8 a1e & ot a1e & UhR &1 Jad 331 fdsweu 3 |

g1 Tl Tt 3R FeATeT BT 14T |
Options :

1. ¢ g a1

2. % IRAdIH

3. % Yy ar




4. % QYIS aT

Question Number : 91 Question Id : 6009299939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 9u= B3 o 3T U a1e & o a1 & UhR &1 Iad 331 fddbeu 3 |
g el =l 3R Tamer &1 7T |

Options :

1. ¢ ggad IR

2. % A IR

3. % {9/

4. % faYyFarES I

Question Number : 92 Question Id : 6009299940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & § 39 fawed &1 99 &3 o AT GeTak & 31 &1 o1 o 3T faded ||

e TR YR g1
Options :

1. % ffa giax s

2. % §gd B BHIH DHRAl
3. % TSI AT

4. ¢ U U XgT

Question Number : 92 Question Id : 6009299940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 Tg & o 3T GeTark & 31 o1 o1 T 331 fashed g
TET IR IR g1




Options :

1. % i gior de

2. % §gd B BHIH Bl
3. % ST AT

4. ¢ Ui Ug @

Question Number : 93 Question Id : 6009299941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O I faded o1 Tg o3 o TR g gad arag o1 Te 31 fasre |
Options :

1. % 5= g¢ I Raar-gey 94t 9% 9 56 o gu foars &

2. % g §g o9, el oy I 8 -7 -5 od gU fowars ¢ |

3. ¢ g g¢ ,5aM, . qey 9yl $3 7 $9 H-d g fems &7 |

4. % = g¢ ofaM, Faal-g3y Ot 8 7 $© od gu fewms 3|

Question Number : 93 Question Id : 6009299941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 997 & S faRH fog gad a1 &1 ey 3w fadhed g
Options :

1. % g g¢ S fa1-33y 94 9% 7 56 B gU fexars &

2. % g §g ,SaM, Rl oy 9 $ -7 -5 oxd gu fawrs ¢l |

3. ¢ T §g ,ofaM, Redl-goy O $ 7 $3 $vd gu fawms &7 |

4. % g gg o9, .oy 9t 56 7 5 Hd gU foars 3|

Question Number : 94 Question Id : 6009299942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl § I 39 faswed &1 999 &3 off foU GaTar & 31 o1 &1 9a 311 fawed g




ST YT

Options :

1. ¥ YT JHDAT

2. v G4 Y= Ui gl
3. % oA 9gd g@ g

4, % TRYAT

Question Number : 94 Question Id : 6009299942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl & T 39 fawed &1 999 &3 o faU Garar & 31 &1 &1 9a 311 fawed g
HT IR

Options :

1. % YIG IqHGAT

2. ¢ Gd Y -Gyl gl

3. % fdd 9gd g&l g1

4. % QG

Question Number : 95 Question Id : 6009299943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fawed o1 797 &3 off AT ddifad & 31 o1 Iad 331 faded g

IEEIEISRGH

Options :

1. ¢ 3151 afaa e fexarar Har g
2. % 3{UTY GIY PT Ul

3. % fodgpd Mg

4. % {PUST BT U USAT B




Question Number : 95 Question Id : 6009299943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fawedl & I 39 fdded &1 9 o S fAU Aldbifad & 312 &1 Jad 3rwsT fadhed g

YTYT AT ST IT

Options :

1. ¢ 33T fe FeT feamar wrar g
2. % IYUN Y & Ual

3. % fodpd 3HUG

4. % fHU ST BT U USAT §

Sub-Section Number : 2
Sub-Section Id : 600929657
Question Shuffling Allowed : Yes

Question Id : 6009299944 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

= U e T & o1 L Uy AU MU § | 39 TR @Y o0 Ydeh U 3R OR el # A Ul Uy b Wafad SR I |

T 91 IR TR ASIgR] & YA o o1 A1 YT & 1Y S § ARG BRI BT ¢ | 91 97 Had YR ab el Gid el &, T8 Uh
Ay T 8 | YR AU & STER el SN, HA-HREH AT fhelt ot § ARG 1 ARING 48 B a1 5 - 14 T4 Y & T
&1 STl it Hel Sl 3|

Tgar AP TG P SATIR - 18 IV Y HH IY & YH B aTc AT o1t HHD & |
i T TG & SR - I 9 B 3Y 15 Tl 0 Bi T8 g
SARBTH - 12 I T 3G HH IH & AN DI A1 YTHeH T ST & |

URA H 1979 T IRHR gRI ST ToIgy] Dl TH B o U & =0 T e y1g WrH Gl o1 e foar mar| forde arg drayd 9 ot a4t
ST & 37T o §1G TG aTH ArHfd gRT RIBTRRT IR &1 115, o TRIs &1 Jolgel & G HRUI b &0 H ¢El 17 3R I
a1 T, fo @R &l § 91 HolgRl IR Ufdel T S Td 3 &30 o B o Wk H GUR a1 S | o=l o1 JaRms) | foar
HRA o o8 Ueh HgaquT 3 T 39 THY G311, 516 S{ageR 1990 H a7 H 39 fawd IR U 9y RReR T &1 3o far
T, forH 151 g1 [ = T foraT QT TR, $UINUT G YGER & RIGR g1 1R & HRIS! gadi o1 gHwnsdl IR foaR-famst




forar |

Sub questions

Question Number : 96 Question Id : 6009299945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"l I, Ha-HREH AT fhEl HU o ARG 1 ARG 91 B a1 5 - 14 T IH & S| Pl a1 HiHd Bl Sl g 1"

SUYad ey forg 1 & IR § (e faded &1 gA1d &1 |

Options :

1. % Tifagd g4

2. % MR

3. % IgH 1Y

4. ¥ YR Gy

Question Number : 97 Question Id : 6009299946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITRISTA 9 TS B SR - It $H D1 I b Tl 7 B 75 82
Options :

1. % 11

2.¥ 15

3.% 10

4, % 14

Question Number : 98 Question Id : 6009299947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA A ®IF ¥ 8 WHR GRIT I Holge] I TH B & UM & g DI FfAfd &1 764 foar |

Options :
1. % 1991, ow gfafa
2. % 1989, Aiderar rHfd




3. % 2000, Yradb @ IrAfd
4. ¥ 1979,77501C GiAfd

Question Number : 99 Question Id : 6009299948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfda= Yeg & Ta! fadH eq ford |
Options :

1. % {8y

2. % %¥C

3. ® 3dx

4. % gidpd

Question Number : 100 Question Id : 6009299949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= TR &1 IId e <iford |
Options :

1. % ST Holge! & Adh o1 HRA R §
2. % §1d Holgl Ueh HTURMY

3. ¢ S1A-YH DI b & 90 T S

4. % ST HolgRl & DRI

Question Id : 6009299944 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

e fou U TR & ST W Uy T U § (39 TR & O Jad U 3R IR faw e # ¥ Udd Uy &1 arad SR g |

T 41 IR TR ASIgR] & YA o o1 A1 YT & I1Y S § ARG BRI BT ¢ | 916 97 Had YR ab &l Gid el &, T8 Uh
;f%asazgg uﬁuﬁ?m%m%wﬁwwwﬁm%ﬁﬁmﬁmmm%wmaﬁs - 1499 I S Il
Cif) CESIGIR




Y Y TG & SJIR - 18 T Y HH IH b 4H B aTel AN 1] 410D 6|
i o TS & AR - 1 4H B 3 15 I 0 &1 713 g
ARG - 12 T4 T I HH Y & AN B! aTdt HTHE AT A & |

YRA T 1979 H TRHR GRIT d1d ToIgs! Bl T B &b U & 20 § =01G WrH! FAfd &1 7164 b mar| {59 a1e Srasy 9 ot it

RS & ST & dG UG Wt Fiifd gRT RGBT Rgd &1 T8, fors TRis &1 Aoig! & G HRUI & U H ¢@l 17 3R g

gTa oot T, fob WaRAT &1 § o1 Holgel IR Wide e vl o) Td 34 831 & H o Wk 8 YUR (a1 S | = &) 9arsf | faar

HRA o fo1T Uh Hgaqui 3 TR 39 T G311, 91d S(ageR 1990 T <1 | 39 faw IR U 9y RReR T &1 i faar

%ﬁﬂﬁwm@% Y U foram T TRIS, HUINUT g YA & RIGR AT HR & HRIS! g &t gersil R faar-famsf
T

Sub questions

Question Number : 96 Question Id : 6009299945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt IENT, Ha-BREM A1 fhdt U=t # ARIS U1 IRING YH B 1A 5 - 14 IY IY S T B 91 HHD BT A gl”
ST AT [y <= & TR & (e f[dded &1 gH1d &Y |

Options :

1. % Qifagd du

2. % 3ARDI

3. % gHITY

4. ¥ YR Gy

Question Number : 97 Question Id : 6009299946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS Y 13 & AR - STl 91 B1 I b 9rel 77 1 775 82

Options :
1. % 11
2.¥ 15
3.% 10




4. % 14

Question Number : 98 Question Id : 6009299947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B P Y I8 WHR gRT T16 ASIGR! B WH B P U & fIe 1=t qfdfe &1 e+ faram mar|
Options :

1. % 1991, fAow gfafa

2. % 1989, Aieberal TrHfd

3. % 2000, UTdh o Iifd

4. ¢ 1979,7T%UTE AT

Question Number : 99 Question Id : 6009299948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Weq b Tg! faeiH Weg ford |
Options :

1. % vy

2.9 QC

3. % dg

4. % gidpd

Question Number : 100 Question Id : 6009299949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= MY &1 IId e <ifor |
Options :

1. % T Holge! &1 db foT HRA MR §
2. % §Tc] Holgyl Ueh U

3. ¢ SIA-99 I A & 99 9 DI

4. % ST Golgs! & HRU]




Disciplinel

Group Number : 6

Group Id : 600929395

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 600929550

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929658

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 6009299950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEet wTeT ot faf yRd g dfdem & {68 WieR fear i g?

Options :

1. % el fofg



2. ¢ SgARI fafy

3. % Teuy! ferfy
4. % dg fafg

Question Number : 101 Question Id : 6009299950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feet wreT 1 faf W dfdem & {68 wWieR fear mrg?
Options :

1. % gl fafu

2. ¢ Gl fafg

3. % Tyl forfy

4. % 9g fofu

Question Number : 102 Question Id : 6009299951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fect TifecT THT & Uy JHUfd oI 92
Options :

1. ¢ He Aig Aradig

2. % HETHT it

3. % yHfAEY =M

4, % YqUudg

Question Number : 102 Question Id : 6009299951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fedl arfe Te & Uy gHTIRS S A2

Options :
1. ¢ HAe Higd HIdd g
2. ® HGTEAT el




3, % JAfaary g
4. % YUd g

Question Number : 103 Question Id : 6009299952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R GERT A Tt & e S-91 Wrsg wrRged fomam
Options :

1. % 3%l

2. ¢ fodl

3. % fgg&art

4. % g&pd

Question Number : 103 Question Id : 6009299952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR GERT A &t & e S-91 Xsg TRgad fowam

Options :

1. % el

2. ¢ fo=adl

3. % fg=g&amt
4. % IYIHd

Question Number : 104 Question Id : 6009299953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RTHTI0T H o5 HTST T aRT o T 32
Options :

1. ¢ &P

2. % 3g

3. % 3OYU



4. % el

Question Number : 104 Question Id : 6009299953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B 353 UTST T TRT foham T 82
Options :

1. ¢ TXhd

2. % 3

3. % 3{UYR

4. % et

Question Number : 105 Question Id : 6009299954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UHATCHT & FTADBR DI 5?2

Options :

1. % HRT

2. # fagmfd

3. ¥ XU

4. % IdDHX

Question Number : 105 Question Id : 6009299954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YHATEHT & IAATBR DI 52

Options :

1. % HRI

2. % fagmufd

3. ¥ YA

4, % Idh



Question Number : 106 Question Id : 6009299955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G off & TR THER M & TR DI 62
Options :

1. ® faemer

2. #® 9ledd]

3. ¥ QTR

4. % FOHg

Question Number : 106 Question Id : 6009299955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G off & SHTIR TR I & TR DI 82
Options :

1. % fa=mr

2. % Sfedd

3. ¢ QSTR

4, % TUAG

Question Number : 107 Question Id : 6009299956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faemmufer =1 food HIwn & 1o [T B2
Options :

1. % SISTHIYT

2. AR YT

3. % Yldhd HINT

4. % IICRYTT HTST



Question Number : 107 Question Id : 6009299956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faremmuial 3 fobg WIS & B1ed T B12
Options :

1. % SISTHIYT

2. ¢ TRt YT

3. % Uldhd HINT

4, % ST HIWT

Question Number : 108 Question Id : 6009299957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRTaTS &1 fpaa! e Fg1 o 62
Options :

1. % g

2. % Jodia™

3. ¥ q

4, % HERCN™

Question Number : 108 Question Id : 6009299957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRTeTS P! forgen! e g1 e &2
Options :

1. % yHe

2. % gadGN

3. ¥ e

4. % DHARE™

Question Number : 109 Question Id : 6009299958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DI-F T St Bt 8 82
Options :

1. % 3HWRIdcC

2. % DHgrIHMHl

3. % e

4. To5ars arai

Question Number : 109 Question Id : 6009299958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- T SR B e 67

Options :

1. % 3WRTIC

2. % DgrIMHI

3. % e

4. 5T arai

Question Number : 110 Question Id : 6009299959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA YR & AR HIH 62

Options :

1. #® HyUI

2. % HYEE™

3. ¢ TICRRO

4. % PRER TN

Question Number : 110 Question Id : 6009299959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
YRA YR & AR DI 62

Options :

1. % HyUI

2. % HYEE™

3. ¢ TIIEIRRO

4. % PRER TN

Question Number : 111 Question Id : 6009299960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JG T UT - HgHI (b a8 Iad & S
Options :

1. #1910

2. % 1912

3. % 1916

4, ¥ 1915

Question Number : 111 Question Id : 6009299960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G BT UT - HeH! fbd Iy I&ad! 7 Tt
Options :

1. #1910

2. % 1912

3. % 1916

4, ¥ 1915

Question Number : 112 Question Id : 6009299961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SORIBR UITG &1 Ugalt sl di-4t ot
Options :

1. ¥ UH

2. % 78T

3. % graadl

4. % HY3AT

Question Number : 112 Question Id : 6009299961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STRIBR NG Bt Ugal deT d -3t A
Options :

1. ¥ U™

2. % 78T

3. % Hrefddil

4, % HYAT

Question Number : 113 Question Id : 6009299962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRdig DI 13T BT WG ford A1 4 82

Options :

1. % YRdg gyur

Question Number : 113 Question Id : 6009299962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAG DI 131 &1 W8 frq Am A 72



Options :

1. ¥ YRdg gUur
2. % YRdg WA
3. ¥ YRdg dyraat
4. % URdg aroft

Question Number : 114 Question Id : 6009299963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ufad forg Hfd & U= & Fg! T 82
18 & W1 H oo g, g et oitaw wifer =7 )

Options :
1. % a9
2. ® U}
3. % 3cTH
4. ¢ gHG

Question Number : 114 Question Id : 6009299963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g U forg fa &1 Uiy & et it 82
18 o 1 H i g, g firet s wifer =1 a3y

Options :
1. %239
2. % Ul
3. % 3cfH
4, ¢ UG

Question Number : 115 Question Id : 6009299964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

R &) O 3Y-IRY T4 5| frge! ufad g2
Options :

1. ¥ Gl

2. % HicRM

3. % 3{Ucal™d

4, % qa9IGN

Question Number : 115 Question Id : 6009299964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M9 HI! S 31Y-3RY T g fhgapt tfad g2
Options :

1. « ST

2. % HfcR™

3. % HUQ™

4. % iGN

Question Number : 116 Question Id : 6009299965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T9- e frae! =T 82

Options :

1. % TG

2. % fagri

3.4¢d

4, % UsIh

Question Number : 116 Question Id : 6009299965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YTa-faam frgent Ta-T1 82
Options :

1. % gMq

2. % fogrR

3.¥¢d

4. % GMh

Question Number : 117 Question Id : 6009299966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgdl &1 Ugdr Alcsh IR ISIRSIG] %‘?
Options :

1. % yEIUEged

2. % RHddl

3. ¢ 3{Hega<d

4. % CIHIYGY

Question Number : 117 Question Id : 6009299966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&<t o1 Ugel e fHR AT ST 82
Options :

1. % yalydgiey

2. % Qe

3. ¢ YT

4. % UMY

Question Number : 118 Question Id : 6009299967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) Pt UhS B LT FT 72



Options :

1. % Pl

2. % U™
3. % R
4. % gl

Question Number : 118 Question Id : 6009299967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e} P b S P AU FT 82

Options :

1. % gl

2. % 304

3. % TR

4. % StaHl

Question Number : 119 Question Id : 6009299968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH-TT T IUIN T TRE e sfiad R Ffsd 87
Options :

1. % Yarged

2. ¥ UHIET

3. % HUYM

4. % e

Question Number : 119 Question Id : 6009299968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHIH-91 T ITIN T3 av8 fhaM Sitad )R i 82
Options :




1. % Jaraed
2. ¢ UHIY
3. % HUYM
4. % fada

Question Number : 120 Question Id : 6009299969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RidR fe=s fpaet Iurfa At

Options :

1. ¢ ST fRIaurg

2. % T A& Rig

3. % qgebi-ic Tl

4. % 9 N

Question Number : 120 Question Id : 6009299969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR fewe fargpt IuTfer &t

Options :

1. ¢ ST fRIauTe

2. % IS e g

3. % qgbI-ic WAl

4. % FiarE gy

Discipline2
Group Number : 7
Group Id : 600929396
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 600929551

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929659

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6009299970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foeT fAftR Ar=1e I &1 X 1 72
Options :

1. % URdg gRee

2. % dldpW Hy

3. ¢ Tl Rravreg Rarfge

4. % 3ToT Aeq g

Question Number : 121 Question Id : 6009299970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Sfier fAftR ARE T~y &1 TR DI g2
Options :

1. ¥ YRdg gReg

2. % dlIhW Hg

3. ¢ X1 fRIavTe RidRfge

4. % 37oT d&r Rig

Question Number : 122 Question Id : 6009299971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 T § HH-1 gheia Aurdt grR1 IRd U= 81 /2
Options :

1. ® gYTadt

2. % (Feum

3. % 3Pl

4. ¥ QUITDTR

Question Number : 122 Question Id : 6009299971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T ¥ SH-91 geid Aurdt gR1 IRd U= 81 /2
Options :

1. % gHTadl

2. % fegmr

3. % 3{dPhl

4. QUIYSHI

Question Number : 123 Question Id : 6009299972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



R Sar frgeT Iu=urg 82
Options :

1. ¢ JUGATY 3P

2. % yHdR YRG!

3. % A AR

4. % TETSH

Question Number : 123 Question Id : 6009299972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R AR fae®T Su=m 82

Options :

1. ¢ JUZAY 3Th

2. % yUdR YRah

3. ¥ HHJIA AR

4. % ARG

Question Number : 124 Question Id : 6009299973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRA I T BT AT T Y T TS B o Hife P At 3imelt 82
Options :

1. ¢ HHDYT

2. % gEATgdld

3. % gAY

4. % @A

Question Number : 124 Question Id : 6009299973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERA I T B AT T UG T TS e [ Pife o Sfaid STt g2



Options :

1. ¢ THDYT
2. % AT gl
3. % 3

4. % Q@I

Question Number : 125 Question Id : 6009299974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SISl U9 1 16 HETHT 1 AGdH DI 62
Options :

1. ¢ HHAR

2. % gRpw oLt
3. % oy g
4. % 33T

Question Number : 125 Question Id : 6009299974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STSl Ua| T A1’ BT BT aad DI 672
Options :

1. ¥ SHAR

2. % gRepwr uht

3. % ey g

4. % 3

Question Number : 126 Question Id : 6009299975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS Yo St & IR TSI Sl 7T B ugal! Ta-1 HH-5 62

Options :



1. ¢ dg B¢ SR &I AfgHl
2. % TRT I Bl HYl

3. % PHJaRdD

4. % YN 9§

Question Number : 126 Question Id : 6009299975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Y St & IR TSI Sl T &) ugal! Ta- HH-5 62
Options :

1. ¥ 9¢ B¢ SR DI AfgHT

2. % TIRTS1GA Bl HYUT

3. #¥ $JIRdP

4. % TN IR

Question Number : 127 Question Id : 6009299976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&t anfec TwieH &t RITAT 39 g3 e
Options :

1. % 1900

2. % 1903

3.4 1910

4. % 1890

Question Number : 127 Question Id : 6009299976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fE<t Tnfge Twier &t w1 e g8 o
Options :

1. % 1900



2. % 1903
3.4 1910
4. % 1890

Question Number : 128 Question Id : 6009299977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OIS Bt I BT AT BT BT AR T 82
Options :

1. % 3HAIR B SI-Sila

2. % g &l Ih

3. ¢ (ward sfaem

4. % 1Y DT AT

Question Number : 128 Question Id : 6009299977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oISl @1 3G PHal UT B! BT AR FT 82
Options :

1. ® IR BT SH-Sfla

2. % g Pl AT

3. ¢ [ sferem

4. % 3URTY T HAIFGIH

Question Number : 129 Question Id : 6009299978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bt il & FEFIBRI B 5 § I frget A1 T2t 31 82
Options :

1. % Hig Ab

2. % oig UTGd



3. % HUAWR
4. ¢ THRIRIATS T

Question Number : 129 Question Id : 6009299978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TE BRI I &b HEHIBRI H 1 H F et A1 Te¥ S 32
Options :

1. % TBAID

2. % i Algd

3. % HHAR

4. TopRIRIeTe et

Question Number : 130 Question Id : 6009299979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeRad el # ¥ HH-91 Aled HRdgsl gRT fiikad 781 82
Options :

1. % YRd gagMm

2. ¢ YR QYT

3. % flaadt

4. % R TR

Question Number : 130 Question Id : 6009299979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Al § ¥ SH-91 9led URdgs gRT f[afad a1 82
Options :

1. % YRd g

2. ¢ HRA AH

3. % e gl




4. % IR TR

Question Number : 131 Question Id : 6009299980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

] THTHR & RARER | Yol e Udhidh! § 1 87
Options :

1. ¢ g

2. % &y

3. % Jgle

4. % AR

Question Number : 131 Question Id : 6009299980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

] THTHR & AR B YA A1 Thidh! & 31 52
Options :

1. ¥ g

2. % &Y

3. % JgIYA

4. % {9

Question Number : 132 Question Id : 6009299981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& STATHRT A TWH 94 SHUPR' fod Hidar &1 tfad g2
Options :

1. % SRAT

2. % 3

3. ¥ | &1 e goll

4. % B!




Question Number : 132 Question Id : 6009299981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& STHTRIT STl T O SBR[ Hidar &1 tfad 2
Options :

1. % RAI

2. % 3

3. ¥ | &1 e goll

4. % HIHTI!

Question Number : 133 Question Id : 6009299982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T faen] B o1 fda B2

Options :

1. % g

2.« HY4

3. % T

4, % HgTa Y

Question Number : 133 Question Id : 6009299982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RG] b1 T fh e @1

Options :

1. % g

2. B

3. % GAUfd

4. % Hrgard oy



Question Number : 134 Question Id : 6009299983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRAG Hid I o ATY-TY T U2
Options :

1. # b

2. ¢ 3fTErd

3. % 4d

4. % UrES-faRie

Question Number : 134 Question Id : 6009299983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PHRIAGY Hid BIH & Y-y &7 A?
Options :

1. # MgPh

2. ¢ JER™

3. % 4d

4. % grEs-faviedt

Question Number : 135 Question Id : 6009299984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI DI HIST BT 2}

Options :
1. % 3MOY™

Question Number : 135 Question Id : 6009299984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HERGN DI HTHT Bt i
Options :

1. % 3[OYR

2. % Gl et

Question Number : 136 Question Id : 6009299985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR A B fohda B1vs/sream 82
Options :

1.¥7

2.%9

3.% 8

4. % 11

Question Number : 136 Question Id : 6009299985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG T H b H1us/seam 82
Options :

1.¥7

2.%9

3. % 8

4. % 11

Question Number : 137 Question Id : 6009299986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ferdraut fobd 1el & Bid A2

Options :

1. % YD BTl

2. % YfeR] BT

3. ¢ Afd o1

4. % GRATYT BT

Question Number : 137 Question Id : 6009299986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Riaraoh fod &1d & Hid U2

Question Number : 138 Question Id : 6009299987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"G IR fhdds GRT IR HTH-TR 62
Options :

1. % ¢d

2. % HicRM

3. ¢ RIHE™

4. % UsIh

Question Number : 138 Question Id : 6009299987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g IR fbdds gRI A BTed-I= 52
Options :

1. % ¢d

2. % HicRM

3. ¢ RITHGE

4. % YR

Question Number : 139 Question Id : 6009299988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HACT H Teh eATED T foral, SHDT 14 T Y12
Options :

1. % il

2. % ST

3. % IRYBIUAT

4. fagm Tfan

Question Number : 139 Question Id : 6009299988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIA H T e T= forar, 39T A1H 31 U1?
Options :

1. % g

2. % B

3. % IRYBIUAT

4. fagr e

Question Number : 140 Question Id : 6009299989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 Jot 8RR i, o & OS] UeR 1 3fad fhue! g2




Options :

1. % 39
2. % G|

3. v BAR

4. % Hehard

Question Number : 140 Question Id : 6009299989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aTe- gt 8RR i, @ & OS] ueR U Ifad frye! g2

Options :
1. % Q-
2. % QMW
3. ¢ BAR
4. % FDHA
Discipline3
Group Number : 8
Group Id : 600929397
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3

Section Id : 600929552



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929660
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6009299990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YD BT & HIod H Hidand fpe 1T F foret St &t
Options :

1. ¢ Gol il |

2. % SOHINTH

3. % Sadt A

4. % §9 3R s@eft o

Question Number : 141 Question Id : 6009299990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY BT o BT T HiadTd forg U H foret et ot
Options :

1.« Tal aet o

2. % SSHIST H

3. % 3faei d

4. % T 3R faeft

Question Number : 142 Question Id : 6009299991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feramafor &ty H=-A 82
Options :

1. ® &hd

2. % 3qeft

3. ¥ 99

4. % SR

Question Number : 142 Question Id : 6009299991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRITHOr Bt TS DI 52

Options :

1. % g&pd

2. ® 3rqet

3. ¥ 99l

4. % ISTRYTHI

Question Number : 143 Question Id : 6009299992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O yar o1 9ud-fawg o1 62

Options :

1. & S BT HYT-UI

2. % A1 T HouMYUi

3. % [H-g4d™

4, % & PI o]

Question Number : 143 Question Id : 6009299992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
O yar o1 9ud-fawg o1 62

Options :

1. S BT HYT-UI

2. % Il BT HSUMYU A

3. % MH-g4d™

4, % & PI o]

Question Number : 144 Question Id : 6009299993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&3 fRren A ford R 3 faemar wfeR ot wR¥adh wa1 32
Options :

1. % S UaH

2. % ORISR

3. % Y USRI

4. Hgigd! aaf

Question Number : 144 Question Id : 6009299993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfd FRret A fbd )t & farmet ey ) axeach we1 52
Options :

1. % 3gar diay

2. % HRIETS

3. % Ty YSRY

4. TgIed! aai

Question Number : 145 Question Id : 6009299994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JeriTaN & g Ui & TaHTHTd & AR 3HRig! HH T TSy
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. dTaett, THERTHNY, SHd! Hd, Hiddrdal
2. S HTd, Hidardal, drad, IHTRTGH=Y
3. Tiidrdelt, piadraa, THARTHAY, S AT
4. SFP] HITd, THdraat, THARTHY, Hiddiad

Question Number : 145 Question Id : 6009299994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JoiIG o g Ui &1 TaHThTd & AR $Rig! hH H TSy
Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. iaracl, IHARTHAY, ST Hd, Hiddiadl
2. S[H] HITd, Sfdarad!, Mdrac, THARaTHY
3. Ttarac!, Hiddrad, ITARaHEY, ST HiTd
4. ST W1, Tdrad!, IHARTHY, Siddida

Question Number : 146 Question Id : 6009299995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H P Yad Ioll & favg # S1H-91 S 3 82
Options :

1. % I T RIS YT & I AT AP §, SR B
2. % A DI Afad Yol BT Gd SIHdd - el




3. ¢ H P Al Yl DT HUFD IHTRIHTH WR 3YRA 5
4. % W P AU W Ao HT aREH Sat I UTed gl

Question Number : 146 Question Id : 6009299995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Pt Ufdd GoT & favg B HH-1 HYT 3 ]2

Options :

1. % 9 B Wi Yol & 79 AT 318 §, 2R HH

2. % 0 I Xl GoIT T GATd STHdd A i

3. ¢ M Bt Wfad Yol BT HYUFD IHARTHY TR SR §
4, % W B (G0 R OO T aReH <ot I U g3

Question Number : 147 Question Id : 6009299996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t A Hod &< § ugel wfad ferem o1 9 b fear Smar 82
Options :

1. % UG Bl

2. ¢ FRIAT &1

3. % Ud &l

4. % TfYCTRRO T

Question Number : 147 Question Id : 6009299996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t o o Be o usal wiaar foras &1 97 ford) feam wmar 32
Options :

1. % UG Bl

2. ¢ FRIATB1

3. % Ud I



4. ® ARYRRO T

Question Number : 148 Question Id : 6009299997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHERGNT Sl 7 3O FRAIG! 3R RIS [GaR| &1 e forad 31 52
Options :

1. % HERUY

2. % Hdq

3. A

4. % et

Question Number : 148 Question Id : 6009299997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HARGR Sff 7 U gRIATal 3R SR =R 1 sare foes &1 &2
Options :

1. ¥ HARUY

2. % {dq

3. R

4, % gl

Question Number : 149 Question Id : 6009299998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A forges! BTed 39T 52

Options :

1. % ORI Igdet

2. % 39

3. % Ud

4.« TR



Question Number : 149 Question Id : 6009299998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ui fhges! died T 82

Options :

1. % ARG adaa)

2. % 3994

3. % Ud

4. fRren

Question Number : 150 Question Id : 6009299999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 7 I fog o3 &1 uga 914 TS a1 U
Options :

1. % BRIIRMY I=H

2. % URIVNIG fgad!

3. ¢ giEeA ud

4. % ydR YR

Question Number : 150 Question Id : 6009299999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 9 ford fd &1 ugd A TS & U1
Options :

1. * BRAIRM =

2. % FORIYNTG fgad

3. ¢ GiFAG Ud

4. % YyHIR YRa



Question Number : 151 Question Id : 60092910000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t & fora TP R = &g &Y 3y &1 oot feetaran
Options :

1. ¢ BRIHT TS

2. % HYBI HIIY

3. % Hold g9

4. % fdgTy AT

Question Number : 151 Question Id : 60092910000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEt & o TR 7 =i &l e &1 ot fyaarar
Options :

1. ¢ BRI IRETS

2. % S{HYBR HIIY

3. % holdl g

4, % IfdeAry arft

Question Number : 152 Question Id : 60092910001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 G & e B e ol Ui 82
Options :

1. % 9 T BT
2. ¢ Yuilufd & &1
3. % gfgoldl ot &1
4. % JSNA o BT

Question Number : 152 Question Id : 60092910001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 G & TaArE § e foraenT Uedtes |2
Options :

1. % yfies ol &1
2. ¢ oitgfd o &1
3. % gfgofid! o
4. % TSR o BT

Question Number : 153 Question Id : 60092910002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3 U] UE HYHY SR GHART" TG Ul fbarb 82
Options :

1. % fafer=

2. % HeId! gHi

3. ¢ SRR UdTG

4. % ARITATT Iddet

Question Number : 153 Question Id : 60092910002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3(UT g HYAY <X GHRI" Ug Ufekl febeep! &7
Options :

1. % fofyersr

2. % HgId! gHi

3. ¢ SIORIHR YdTG

4. % ORG-S Igdet

Question Number : 154 Question Id : 60092910003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
BHEE & IR Wl # 5 H Y DH 0@ 61 82
Options :

1. ¢ 31}

2. % Ud

3. % fRyen

4. % U4l

Question Number : 154 Question Id : 60092910003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITETE & IR W H g & § H1F T T8 22
Options :

1. ¥ 3R

2. % Ud

3. % fRyel

4. % U4l

Question Number : 155 Question Id : 60092910004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3 HTe] e a8 UHIRId g3
Options :

1. * 1914

2.9 1925

3. % 1930

4. % 1928

Question Number : 155 Question Id : 60092910004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"3 HTe] [ a8 UHIIRId g3
Options :
1. % 1914
2.9 1925
3. % 1930
4, % 1928

Question Number : 156 Question Id : 60092910005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faepeal # @ wiH-91 faeey = fou 7Tt wee &1 Tt gAY e 761 82

hHA
Options :

1. % X[dad
2. ¥ Gdge
3. % WA
4, % 3dd

Question Number : 156 Question Id : 60092910005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 fasbed! o O D19-91 fasbey =itdl faw 7TQ 2reg &1 et S <ree 761 82

HHA
Options :

1. % R[dad
2. ¥ GAge
3. % WA
4, % 3d




Question Number : 157 Question Id : 60092910006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g fapedl & 39 faey &) T ot f3U U Tree-gw o1 we) 31 aret oo B

HHY-3HY
Options :

1. % Uft-gA!
2. % GHI-RA
3. ¢ freRgHl
4. % fUig.gay

Question Number : 157 Question Id : 60092910006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 famed! o 39 fawed o1 gfT i fau 7T Weg-gm &1 Tet o1 arer faded |

HYY-3HY
Options :

1. % gifeq-gHl
2. % GHI-RA
3. ¢ fAgR-gHl
4. % Foig-gay

Question Number : 158 Question Id : 60092910007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasweal § @ oH-91 fawey - fou 7Tt vreg &1 98! fady wss 82
ST

Options :
1. 7d




2. % 3[d
3. % form
4. % 3fd

Question Number : 158 Question Id : 60092910007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § @ oH-91 fasey - fou U vreg &1 I8! fady wsg 82
ST

Options :
1. % 71d
2. % 3fd
3. % faRm
4. % gfq

Question Number : 159 Question Id : 60092910008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Py el § A 39 ey &1 954 o1 o IugT & 97 Wed &1 T8t fIbey Te1 g
Options :

1. % ey

2. ¢ foeH

3. % JHTGAT

4. % fagan

Question Number : 159 Question Id : 60092910008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 34 fddhey &1 90 B3 off SURAT ¥ 94 Weg &1 el fadhed a1 g

Options :




1. % 3o
2.« fieH
3. % GYgr

4. % g

Question Number : 160 Question Id : 60092910009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 faswed &1 99 SIfoE o AT T8 THUS & Ha! dgsiife THN &1 fdded g
deleR

Options :

1. % Tl IR drell

2. % I DT Al

3. ¢ T g IR for a1 syfd Torersh

4. % I g T

Question Number : 160 Question Id : 60092910009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl § O 39 fawed o1 Tg- HIfTY o 3T 7T THaue & Ta! agsiife T &1 fadhed g
EIEH

Options :

1. % &d I aral

2. % IR BT AT

3. T 8 IR forgepT 3rufd TTorersit

4. % I3 g W

Discipline4



Group Number : 9

Group Id : 600929398

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 600929553

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929661

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 60092910010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fasedl & 9§ 39 fdde &1 999 B S U § 9 Reg &1 Tl [ddbed ol o
Options :

1. % Pk

2. % YU

3. % 93l



4.« faRvg

Question Number : 161 Question Id : 60092910010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 907 B3 ol UT T 54 e, 1 Tg! [dhed 181 g
Options :

1. % Ferdl

2. % YU

3. % 93l

4.« faRIYTG

Question Number : 162 Question Id : 60092910011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g foed! & 9 BH-41 fasey 12 fau U 2sg &1 8! GAr 2 8 52

81y
Options :
1. % &R
2. ¥ I
3. % gferd
4. % 9%

Question Number : 162 Question Id : 60092910011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15 Al & ¥ $1F-91 faded =i fau 71U reg &1 e S <reg 181 82

8y
Options :

1. % &R




2. ¥ AP
3. % gferd
4. % 9

Question Number : 163 Question Id : 60092910012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & T 39 fawed &1 999 HIfoE o iU T8 THue & Ta! a7 90 &1 fadwed g

1dUe

Options :

1. ¢ =1 5] T qHg
2. % UL

3. % BTG

4. % TYTG

Question Number : 163 Question Id : 60092910012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faswed &1 997 Siford off T 7T THue & Ta! fg7] 99 &1 fded g

ECP
Options :

1. ¢ T U8l BT IgE
2. % MU

3. % NHTU

4. % NI

Question Number : 164 Question Id : 60092910013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmed! o 9 39 fased &1 g+ S fAT 71U Xreg & W5 SHeTif U a1 fadhed g 6




&

Options :
1. % a8
2. ¥ d[T
3. % Wd
4. %

Question Number : 164 Question Id : 60092910013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 fased &1 g+ S faT TN Xreg & 8 sHaTif = ara fadwed 8! g
&

Options :
1. % 28
2. 9
3. % Wd
4. %

Question Number : 165 Question Id : 60092910014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR’ Ueg H DIH-I1 T 82
Options :

1. ¥ BR

2. % 3R

3. %%

4, % g

Question Number : 165 Question Id : 60092910014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YATER' Veq, H HIH-T1 U 82
Options :

1. ¥ 8RR

2. % 3R

3. %%

4., ® FdgX

Question Number : 166 Question Id : 60092910015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 39 faswed &1 gMT i fau 7T Weg-gm &1 Te! o1 arer faded g
IRBC-DHDHC

Options :

1. % pal-fdar
2. % fhardamar
3. ¥ Hel-hdhal
4, ¥ R-PMH

Question Number : 166 Question Id : 60092910015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmed! o 39 fawed &1 g Sl faT 7T Weg-T &1 el 37 aTel [ddhed g
IXPHC-HDHC

Options :

1. % pgl-forell

2. % fhdarddar

3. ¥ Hel-hdel

4. & IR-DPMH




Question Number : 167 Question Id : 60092910016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § HH-91 fawey i 3T T Trsg o1 Ut faay Ueg 82

SUYDR
Options :

1. ¢ 3UHR
2. % 3
3. % 3{ak
4. % 3frd

Question Number : 167 Question Id : 60092910016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ot & @ -1 faweu = faw 7t vse &1 T8t oy wsg §2

SYDR
Options :

1. ¥ 3AUDR
2. % 3™
3. % 3alk
4. % 3fed

Question Number : 168 Question Id : 60092910017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fawed! o 9 39 faaed o1 909 SO St HIgaTad U3 &1 g faded Tai o)
Options :

1. % R

2. ¢ Qidd




3. % YIgd
4. % fiFan

Question Number : 168 Question Id : 60092910017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol § @ 39 fdehey &1 9u ST Sl HigdTes I3 &1 et fased T81 g
Options :

1. % Rramn

2. ¢ Tidd

3. % Yldd

4. % foEar

Question Number : 169 Question Id : 60092910018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o O 39 faded &1 99 Sifod ol THE arad I &1 Te! fadhed g
Options :

1. * HRd

2. % gef

3. % qld

4.« Mg

Question Number : 169 Question Id : 60092910018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fdded &1 9g- HITOTE Sff Tg arad 43l &1 el [ddbed g
Options :

1. # HRd

2. % gg

3. % ald




4. i

Question Number : 170 Question Id : 60092910019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{75 fashedl # @ 39 fabed &1 97 BIfSTT Sl faU 7T arerr & 3raR faReor & He o1 Jel fashed B
(T8 )3MTeH! 3=y ¥ HTH BT A1 3 |

Options :

1. % JdYdrash
2. % TUAMSH

3. ¢ gIa-IHD
4. % YRHUERS

Question Number : 170 Question Id : 60092910019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fasbed! o ¥ 39 [9ded &1 997 SIfTT Sl U 7T 1T & SR fIRIv0r & U o1 9gl fadbed 3
(T8 )3MTeHY 3= T BTH HAT T 5 |

Options :

1. % IYydrasdh
2. % OIS

3. ¢ TIGAIHS
4. % gRATIEIS

Question Number : 171 Question Id : 60092910020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&) ¥ g fram YR & 81 8

Options :

1. ® 4



2. Ulg
3. % gR
4. % B

Question Number : 171 Question Id : 60092910020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
féd} & g fram YR & g1 8
Options :

1. ® dF

2. ¥ Ulg

3. % IR

4, # G

Question Number : 172 Question Id : 60092910021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{74 a1 § g 3T T yal &1 e arer fdeed gy
Ug IUD! d5] PR g, (RO IS IRIBR o 7T U

Options :

1. % Fygamas g™
2. % Yfgdardd A
3. « QIERATISH Ja-TH
4. % Sifdardes I3

Question Number : 172 Question Id : 60092910021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 a1 H BIgeh H 4T TN UGl o1 aR=g a1e fashed gAY
g 3P| g6l PR g, () B IRIHR & 741 4TI




Options :

1. % Fygams g™
2. % Yfgdardd A
3.  QIERATISH JG-TH
4. % Sifdardes I3

Question Number : 173 Question Id : 60092910022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 ol T ¥ 3 fdded &1 9g HIfore ot faU T4 a1 & SFAR 96! 9o Ugay &1 f[dded gl

fasTelt-<ft Bl faQThR 31U STeieh 1 g 9 &= fer|
Options :

1. % fororell-ot Bt

2. % ga4 9 w1 fer

3. % D Bl

4.  faoreil-f Bt famey s

Question Number : 173 Question Id : 60092910022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

17 famedl & ¥ 39 faded 1 9g- HIFTE off ST 7TU a1 o AR Te! 9o Uasd &1 fadhed g
faroTell- T Bt feaTeh 31U d1ce ! g 9 = fer

Options :

1. % fooTell-l et

2. % & 4 &= fer|

3. % q[ddH Dl

4. ¢ foorcil-dt Bl fe@rey e

Question Number : 174 Question Id : 60092910023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fasheu &1 9u- Pifore o Sifdars I3 &1 98! fdwe 3|
Options :

1. % dd

2. % JRAR

3. ¥

4. % MHYU

Question Number : 174 Question Id : 60092910023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 31 fashey &1 9u- PHifore o Sifdaras T3 &1 98! fdwe 3|

Options :

Question Number : 175 Question Id : 60092910024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawedl & I 39 fawed &1 99 SIfoTE off 3T T8 a1 & SFAR Tal fha1 & U &1 fadwed )|
RERNIBEERCEINE

Options :

L. % Hgad
2. ¢ RN
3. % AMHYT
4. % JHUD

Question Number : 175 Question Id : 60092910024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & I 39 faswed &1 99 SIfoTE off 3T T8 a1 & SFAR Tal fha1 & U &1 fadwed )|
RERIBEERCEINE

Options :

L. % Hgad
2. ¢ IRUMSH
3. % AMHYT
4. % JHUD

Question Number : 176 Question Id : 60092910025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 99 Sifoid off 3T U a1 & SR fohaT faRivm & 0 &1 el fdeed g

AT T Ha 98] 81 38T 3
Options :

1. « R[Hddh

2. % DIAddd

3. % Jfdaas

4. % gRHAAEIS

Question Number : 176 Question Id : 60092910025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl # O 39 fawed o1 TgH HIFTE o 3T 71U a1e & 3R foban fagivur & N &1 98t faweu g

THT T Ha 981 81 38T g
Options :

1. ¥ JYTIdddh

2. ® DIAdddh




3. % Jfdaas
# gRATUAR®

Question Number : 177 Question Id : 60092910026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol § @ 39 fdehey &1 9u ST Sl HigdTes I3 &1 et fased T81 g
Options :

1. % 3fHRY

2. % Iy

3. ¥ PR

4. % TS

Question Number : 177 Question Id : 60092910026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fased! o ¥ 39 [9aed &1 997 SIS UIgarad I3 T Jg! fdded el o
Options :

1. % 3R

2. % Iy

3. % DIAR

4. % TS

Question Number : 178 Question Id : 60092910027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fashedl @ I fddhed o1 994 PIfoTE Sl faT T8 a1 & SUR gl 9371 Ugad o1 fddhed g

IR dIbdaR Toigx 39 YR 9e &l 31 U |
Options :

1. % 3 YR IS &I




2. ¥ IR dlh dar HGR
3. % dlhdd’
4. % Holgl

Question Number : 178 Question Id : 60092910027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fashedl @ @ I fddhed o1 94 PIfoTE Sl faT 7T gty & SUR gl I3 Ugad 1 fddhed g

IR dIhdaR Toigx 39 YR 9e &l 31 U |
Options :

1. % 3 YR A &l

2. ¢ IR ATH AR HOIGR

3. % qhddR

4. % TR

Question Number : 179 Question Id : 60092910028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasedl & I 39 fdded &1 99 SIfT o 3T 7T 91 & SR fa=wor & U &1 Ig! fadbey 3|
SRl &1 (Hiast) Tdg Sarel TRA gl g |

Options :

1. ¢ GYad®
2. % faqardas
3. % UYdrdd
4. % =D

Question Number : 179 Question Id : 60092910028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99+ SIfoTE off 3T 7T a9 & SR fa=wor & U &1 9e! fadwed 8|




SRl &1 (Hiast) Tdg el TRA g 3

Options :

1. ¢ HdYdrash
2. % Hfgqdrdd
3. % YYdrasd
4. % JHAHID

Question Number : 180 Question Id : 60092910029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

77 ol o ¥ 39 fased &1 9g HIfoTE il foU T4 a1 & S8R ¥ & Ug &1 gl [dded 8|
@®) 7 fob § (@8) TORI 8

Options :

1. ¥ JoYarsh
2. % [Hygaras
3. % fAoas®

4. ¢ JdYdddh

Question Number : 180 Question Id : 60092910029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl & ¥ 39 fasmed &7 9a- HIOTE off 3T 7Y 916 & AR Hd-1H & UG BT Gl fadhed g
@®) R} fbdma 8 (38) JRR 8

Options :

1. % QYA
2. % [Aygaras
3. % fAara®

4. ¢ JIYdTah




Discipline5

Group Number : 10

Group Id : 600929399

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 600929554

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929662

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 60092910030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 91 & WG 1 gt fddbed gy

STy ols; YT HRA & TYH Pl 3]
Options :




1. % Togard® ared
2. % Jhddrd Al
3. % MNYdrEI® ared
4. ¢ Ay 91

Question Number : 181 Question Id : 60092910030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U 916 & Vg &1 We! fadhed gy

Slae Aol UG HRA o JYH IFPUfd 3|
Options :

1. % Ydgarad ared

2. % Jopddrdd arag

3. % FYyaE® g

4. ¢ fAY™aES I

Question Number : 182 Question Id : 60092910031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ot ¥ IExa &1 Te! f[ddwed gy
S Bt 3Tt a5 St PR A |

Options :

1. % diu7 1 qrdl g s
2. % §gd D! Hel-ar

3. % 3B BRG] g §

4. ¢ duT @l grdl

Question Number : 182 Question Id : 60092910031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad are o IExg &1 vel fawe gy
31 1 31} S 3B eIt AT |

Options :

1. % U7 1 grdl g S
2. % §gd @I FHel-ar

3. % 3B B! AT §

4. ¢ duT &l rdl

Question Number : 183 Question Id : 60092910032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRifad are & I3 o1 TE! faey vy
e e B & g ondt 3o i & eR T g

Options :

1. ¢ g

2. % TgH

3. % g [EHN IR & oY
4. % AT FRTATE

Question Number : 183 Question Id : 60092910032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ 350 &1 I8! fddwed ugdy
e TEHI B & g ot 3= o & R )

Options :
1. ¢ g
2. % TgHN

3. % g TP B & [o1g




4. % JATPF I RTATE

Question Number : 184 Question Id : 60092910033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasbedl 7 9 firy a1 &1 yg=any)

Options :

1. % QA T BT 3R 98 S0 &R gl 7|
2. ¥ 98 3R J1RR Bl a1 81 Al BT ADR ST
3. % YETS! 9gd v 91d gl g

4. % W 33T AT 11 B

Question Number : 184 Question Id : 60092910033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 faevedt # iy aTed 1 yg=g)

Options :

1. % XA FHH fordr 3R 98 39 TR IaT 7|
2. ¥ STER 3R SRR 81 XG1 81 Al BIAT ABR S|
3. % YIS 9gd ol I1d e )

4. % T 3BT I I g

Question Number : 185 Question Id : 60092910034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol o ¥ Tgad ared &1 ugdn-y|

Options :

1. % gg Sl CIYiaTal 916§ ol off X1 |

2. ¢ D] HTH 99 Y 3T a8 frat I RIS o & I A g
3. ® Th A YioH fdbar|

4. % T3 T U&ft <ar Sl 9 ol




Question Number : 185 Question Id : 60092910034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fdshedl © ¥ Tgad a1 & Ugan-g

Options :

1. ® gg Sl SIYiaTal 919§ ol o X1 |

2. ¢ IHT HH 99 WY Y 98 fohalt I RIBTRR B & Jaar A g
3. % B HioH fobar|

4. % T4 T velt G| S e |

Question Number : 186 Question Id : 60092910035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad a1 o fadg &1 98l fadbe gy
319 Hf TR dEHR a1 BY|

Options :

1. ¥ T R ISHR a1d b
2. % MY

3. % 3T I IR G

4. % §d B

Question Number : 186 Question Id : 60092910035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ar o fada &1 98! faswed gy
3T HT TR dEHR a1 B

Options :
1. ¢ HY TR IEHR a1 B
2. % 3



3. % 30 HH R IEHR
4. % g1d B

Question Number : 187 Question Id : 60092910036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfed faeedl # wRe a1 o1 g fddey gy
Options :

1. % U 3T 3R YH HR ) T4

2. % g TIQT al YT Al MY I I e 747

3. ¢ AT TTDUS AR TS B

4. % SR Y BT TH BT 3 ol T

Question Number : 187 Question Id : 60092910036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed faeedl & W areg o1 9gl fdber gy
Options :

1. % U 3T 3R Y HR A T4

2. % G T ) YT Afp MY I T die T4

3. ¢ 4T U HUS ABR TS g

4, % S QXY BRI WH BT I Feofl e

Question Number : 188 Question Id : 60092910037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad arr & ey O fau 71U Tsq & IuaTe &1 14 9d15y

RRET < HT1 % (a8 Hd TP AIed 38 o1 | )
Options :

1. % faQyur JuaTRy




2. T IUdTeR]
3. % fopar IUaTR
4. % fharfarivor IuarRy

Question Number : 188 Question Id : 60092910037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAoferfad ot # ®Ig® § QT U s & IYATHR BT ATH 9d13Y|

fRRaT 3 F81 f (98 7 U e <@ o &1 7))
Options :

1. % faRIyor JuaTR

2. ¢ G IUATHR

3. % {1 JudTH

4. % fopaTfaRIvor I

Question Number : 189 Question Id : 60092910038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ fada o1 T8 fddwed ugang
GRSl A Th IR H ©: T Y|

Options :

1. ¥ & R T &: Sadb A
2. % GRS

3. % T Fadb AT

4, % GRS 4 Uh R I

Question Number : 189 Question Id : 60092910038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT ot # fada &1 98! ey ug=ny|



RISl A Th R T ©: T Y|
Options :

1. ¥ T 3R T B: T TY

2. % AR

3. % T: Bddb TWIY

4. % RS A TP R G

Question Number : 190 Question Id : 60092910039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fo faspeat & Q fiyey a1e &) gy

Options :

1. % AT S @HET 16T g

2. % &9 o AT 3R 37ERT B I

3. ¥ OId QH GHd] el 3= 3iehl I U §1 SIS dd e piciol H qriarer foret Sia
4. % f39% U I T 3R Y B I [

Question Number : 190 Question Id : 60092910039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg faepedt & 3 firef a1e &) UgaTy)

Options :

1. % T St W ST 3T g

2. % f&7 & a7 3R 3feRT 8 |

3. ¢ S/d qH Sl D&l 3wy 3ol Y UMY Bl SIS dd e dlciol H GIRIa et Sra|
4. % 0% W Y 3T 3R Y&b H I T

Question Number : 191 Question Id : 60092910040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFrafiRed area § Qv Suare ug=nfy)
I8! ST IO d BT & ol He-d! 8idT g

Options :
1. % qhd

3. % ggl g1
4. % 98 I g% d gidT g ol Hg-Tal

Question Number : 191 Question Id : 60092910040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad areg | fa=ivor Iuaret ugang
I8! ST U BT & ot Hed! 8IdT g

Options :
1. # b

4. % 9g! 91 % gIdT § ol Al

Question Number : 192 Question Id : 60092910041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& FMpead! aull & IRER Ad 4 S uRad gidT & 34 1 Had 82
Options :

1. % fy-fawse

2. % dI

3. Y

4. % guf



Question Number : 192 Question Id : 60092910041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Mpead! quil & IRER Ad ¥ S URadH gl § 34 1 H8d 62
Options :

1. % Hf-fawg

2. % dIH]

3. Wiy

4, % guf

Question Number : 193 Question Id : 60092910042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O T AR 99T et & 91¢ TR a1 o 9uf & 3 F S fapR I 81dT 8 S T Hed 82
Options :

1. % TR

2. ¢ fawi iy

3. % oo Y

4. % 3Ife WY

Question Number : 193 Question Id : 60092910042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Y B T o & 91 TR a1 Ao 9uf & 3 I Sl fApR ST giaT & 39 HT Hed 82
Options :

1. % WY Iy

2. faaf Ofy

3. % ool 9fy

4. % 3fgrie 4fe

Question Number : 194 Question Id : 60092910043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 fow e wree # wged €Y e 1 9 fien gy

3l
Options :

1. % 3+l
2.9 3q + XUl
3. % 3a + YR
4. % 3aY + 0

Question Number : 194 Question Id : 60092910043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2w U wreg & wged Y We &1 98t fawed gy

3l
Options :

1. ® 3a+8ul
2.9 3 + XUl
3. % Ja + YR
4. % 3qY + 0]

Question Number : 195 Question Id : 60092910044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe
IIBTJrﬁ

Options :
1. % OgRH
2. % TgHf




3. % HERHH(
4.« TRIH

Question Number : 195 Question Id : 60092910044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Trsg 1 g8t IfY arar faw ey ug=nfAwe
IIBTJrﬁ

Options :

|. % HgRA!
2. % ggrHf
3. % TEI&HH!
4. ¢ HRITH

Question Number : 196 Question Id : 60092910045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U Trsa 1 Tt IfY arar fasey uganu?
R+

Options :

1. ® TR
2. Y
3. % R
4. % IR

Question Number : 196 Question Id : 60092910045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe




:R+'sf'52T

Options :

1. % R
2. Y
3. % ARg
4. % IR

Question Number : 197 Question Id : 60092910046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7T Wee 1 Uat IfY-fawse arer fasey ug=nu?
e

Options :

1. % T+ 330
2. % AT+ 59
3. g+ 3
4, % g+ 39

Question Number : 197 Question Id : 60092910046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it fau 1T req 1 Wt HfY-fawdq arer fdeey yg=nfw?
CIRy

Options :

1. % T+ 39
2. % T+ 3
3. g+ 39



Question Number : 198 Question Id : 60092910047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7T wect 1 et |y arer faw ey ug=nAu?
g+ g

Options :

Question Number : 198 Question Id : 60092910047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U wrect 1 Tt Y aret faswey uganfw?

Question Number : 199 Question Id : 60092910048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 faw e wree § wged €Y e 1 98 fdeen gy
ELLI

Options :
1. ® dd + XUl



2. ¥ 9q: + UG
3. # gV + Ulq
4. ® 9 + Wiq

Question Number : 199 Question Id : 60092910048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau 7T wree H v T 9 &1 98} fawe gy
LAY

Options :

1. % 9q + XUTG
2. ¥ 9d: + Ulq
3. % IJy¥ + Ul
4. % IJ +Wiq

Question Number : 200 Question Id : 60092910049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U wrect 1 Tat I aret faswey uganfaw?

HIg + 3ad
Options :
1. ® Hd3ad
2. ¥ e
3. % Y
4. % Yy

Question Number : 200 Question Id : 60092910049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Trse 1 g8t TfY arar faw ey ug=nfAwe




HIg + 3ad
Options :
1. #® HJ3aY
2. ¥ Il
3. % H[Hay
4. % Yy

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :

Discipline6

11
600929400

Discipline6

600929555
1

Online
Mandatory
20

20

20

Yes

1
600929663



Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 60092910050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U Trect 1 Tat IfY aret fasmey ugane?
%If[+ G{Qf

Options :

1. % grfaref
2. % guy

3. ¢ A
4. % RTIHY

Question Number : 201 Question Id : 60092910050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U wrect 1 Tat Y aret fasw ey uganfaw?
‘éﬂ:f+ 31"4

Options :

1. % grardf
2. % gy
3.« A
4. % RO

Question Number : 202 Question Id : 60092910051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e U Treg 1 Tet Af-fowse aren A ug=n_u?

gad




Options :

1. % 9o + T4
2. % g+
3. % g+ 3{ad
4. ¢ JH+ Y

Question Number : 202 Question Id : 60092910051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il faU T4 Wsg &1 We! IfY-fawse arer fadwed ugan-g?
P

Options :

1. % d + T4

2. % g+9dYU

3. % g+ 3y

4. ¢ JH+ Y

Question Number : 203 Question Id : 60092910052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 o Tu wreg & e Y We &1 98t fadeu gy
Iy

Options :

1. % I + Ry
2. % 3+ RE

3. ¥ 3+ Ry
4. % 35 +¥

Question Number : 203 Question Id : 60092910052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

2 i U wreg & e Y We &1 98t faded gy
Iy

Options :

1. % 3= + Ry
2. % 3+ RE
3. ¥ 3+ Ry
4. % 35 +¥

Question Number : 204 Question Id : 60092910053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fau 77U Weg 1 Uat IfY-fawse arer fasey ug=n-u?
I

Options :

1. % 3+ qu0
2. ¢ 3+ TN
3. % 3fd + T[0T
4, % 3{ + UYU[

Question Number : 204 Question Id : 60092910053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fau U Wsg 1 TE) TfY-fa=s e arel faey ug=nwy
IS

Options :

1. % 3{q +duUl
2. ¢ 3 + TN
3. % 3d + X0




4. % 3+ T

Question Number : 205 Question Id : 60092910054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI, UTST &1 HTST Bt TR IUDHT BT T BT 82
Options :

1. % URIOTH

2. % rHTNSID

3. % 3

4. qFH

Question Number : 205 Question Id : 60092910054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YTSTTARIT, UTST BT UTST BT SR IUDBT T ST Bl 52
Options :

1. % RIS

2. % HHTRTh

3. % 3ffes

4. ¢ IS

Question Number : 206 Question Id : 60092910055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgct 1 AFHTST YN B aTel Sfg=dl HIS URciTaeh T 14 T Y12
Options :

1. ¢ TOTERATHT 3R

2. % TfeTd I

3. % 3fTaR JEd

4. % TETAT e




Question Number : 206 Question Id : 60092910055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgdl &1 APHTS N B aTel 3ife=<dl HTH URiTaes <1 =T T U2
Options :

1. ¢ TOTaaTH! TR
2. % gfog Iq

3. % 39 Y&

4. % TIGTHT TTeh

Question Number : 207 Question Id : 60092910056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feel o fawa & YR dfaus & o foran g2
Options :

1. % St ¥udh wtw g

2. % g Sy g

3. ¢ Tl ASTHI &

4. % T} fac=ht T g

Question Number : 207 Question Id : 60092910056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t o farwr o uRdita wfaer & a1 foran 82
Options :

1. % R ¥udh urwr g

2. % g Syt g

3. v TR IeHTT B

4. % I fac= uror g



Question Number : 208 Question Id : 60092910057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR IR BT 5H R DHIH-1 UT?
Options :

1. ¥ Tl

2. % 3cIdl

3. % SIQR

4. % fgR

Question Number : 208 Question Id : 60092910057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R YR HT T VI HIH-IT UT?
Options :

1. ¥ Ul

2. % gcdl

3. % SR}

4. % f98R

Question Number : 209 Question Id : 60092910058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRA AR FATRT GHT & FRITIS B A2
Options :

1. % yHdR YRl

2. % Mg YA

3. % FggaR dreudl

4. ¢ S1q WHYR <

Question Number : 209 Question Id : 60092910058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT ARY Y=ITRUT FHT & TIPS B A2
Options :

1. % yHdR YRG!

2. % WG Yad

3. % SggaR Ut

4. ¢ 91q WY G

Question Number : 210 Question Id : 60092910059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR frf &1 o & o FgT S B2
Options :

1. % ST A

2. ¢ Fd A

3. % Udd ATRI

4. % ggral ARl

Question Number : 210 Question Id : 60092910059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fafts oY aferor & o wT S 82
Options :

1. % cfgror

2. ¢ FAd A

3. % Udd ATRI

4. % ggral AnRY

Question Number : 211 Question Id : 60092910060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RTSTHTST ST 1976 & TR et TNT Bt 2D 1 <=1 14! ! favait AT0rT & |ieT S Wehd 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 41d

2.

3. 414

4. 15

Question Number : 211 Question Id : 60092910060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTSTHTYT RIF 1976 & SFIAR & T &t € T <=1 I3l i farait S0 & aieT S Hevd 52
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 91d

2.dH

3.1

4. TRe

Question Number : 212 Question Id : 60092910061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1937 § gy 7 31fae WRd Qféies e o1 e fdet siemardt H foear mar ur

Options :

1. % IO JHEET I




2. % HEHIET HIAd™
3.« HETAT Tieftoi
4. % q1d TMeR fads

Question Number : 212 Question Id : 60092910061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1937 H gyl § 3Rae URATT Aféd Tria BT o fhad! SiegerdT | faar ar U1
Options :

1. % Sl A I

2. % HGAHIGT HId g

3. ¢ T TiefSh

4. % q1d TR el

Question Number : 213 Question Id : 60092910062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 Hfadl & o et 31 HgTeid =T STl 82
Options :

1. ¢ gadie™

2. % Plfcar™

3. % SyEy

4. % Yagdl

Question Number : 213 Question Id : 60092910062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 wiadl & o1 fEEl o1 HgTahia |1 STl 87
Options :

|. ¢ JadGN

2. ® PG




3. % YUY
4. % Yagd

Question Number : 214 Question Id : 60092910063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT YR Ryge! iR oi9-3) forft siferd g2
Options :

1. % IR

2. ¢ STEh

3. % Ppfed

4. % pifey

Question Number : 214 Question Id : 60092910063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T YR R )R SH-4t fafy sifdd g2
Options :

1. % TgINRY

2. ¢ STl

3. % Ppicd

4. % Py

Question Number : 215 Question Id : 60092910064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S{HR GIRY B! Uifes; BT AT BRI UT?
Options :

1. % IgiA YUYl 1 I Dl

2. % IgIH a1 BTl feral

3. ¥ 35 Ugferdl SR Hepiai fert




4. % IgIA TABYT fordt

Question Number : 215 Question Id : 60092910064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR IR &1 URifS BT T HROT T2
Options :

1. % I yH-Udf BT I B

2. % IgIH §Td eIl ferelt

3. ¥ I Uglerdl SiR gapivai fordt
4. % I DY ferdl

Question Number : 216 Question Id : 60092910065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{&R TR TR A &1 3rHIe fobd wififel gRT fobam mam
Options :

1. % JPHTE TR Fidfd

2. % fgdl ife Fwei

3. % 3T R od wiafd

4. ¥ AR GUR AAfd

Question Number : 216 Question Id : 60092910065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&R TR RRIGT T &7 3fH1eA fob affifa grr favan mar
Options :

1. % APHTYT JIR FiAfd

2. % fg<t QIigey qrTel

3. % 3T AR5 & WA

4.« SIATRI GUR FiAfa




Question Number : 217 Question Id : 60092910066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"_1d-fead, TH-3MT, JE-g:9, BE-YU|

g Slia Sg& 04T, 9&d fbas U1 H HH-I1 8¢ /2
Options :

1. % gRal

2. % g

3. QIgl

4, % T

Question Number : 217 Question Id : 60092910066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"}TA-fEad, GH-3HT, E-g:9, B1-4U|

g Sl 9810, 98 fobde =0 11" H HH-91 ¢ 82
Options :

1. % IgRAT

2. % TS

3. ¥ QIel

4. %

Question Number : 218 Question Id : 60092910067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W8T Uh Vst T FUF-foe 3t & TN 81, 981 P97 iR 8idT 82
Options :

|. % %Y

2. ¥ JHD

3. % 3JUN




4. ® geplfad

Question Number : 218 Question Id : 60092910067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W8T U Vst T FUF-foet 3rdf & TN 81, 981 pI--97 iR BidT 82
Options :

|. % ¥Y

2. ¥ JHD

3. % AJU™

4. % qebiford

Question Number : 219 Question Id : 60092910068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 TS A1 Wi B PHR [Hd T BT IE U [aHTa 82
Options :

1% g

2. ¥ YO

3. % dR

4. % 3

Question Number : 219 Question Id : 60092910068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 o1 31 I BT GHR b 9 BT Ie 1 faHTd 82
Options :

1. % 3%

2. % YHd

3. % dR

4. % A



Question Number : 220 Question Id : 60092910069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M B TG R ST dh & 771 B uRBifR
I7a T I Yfer T8 BRI 6T Ud BR Al Ufdd H BH-AT 9 82

Options :
1. # 8™
2. % D[
3. % T0d
4. ¥ YR

Question Number : 220 Question Id : 60092910069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B &Y R SHe! b & 71 ) uRBifR
TTa A Y YT TS B b &) Ul gR i) Ufdd H P 3w 82

Options :
1. % 8l
2. % hol]
3. % 30d
4. PR
Discipline7
Group Number : 12
Group Id : 600929401
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline7

Section Id : 600929556

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929664

Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 60092910070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I gal 3 fHfer, 3ifdieh g |

ot R Ry iR S1e $ftyam | | ifda & eF-a1 8¢ 82
Options :

1. % Uy

2. §4

3. % Iedral

4. % gagT

Question Number : 221 Question Id : 60092910070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I gal 3 fHfer, 3ifdieh g |
ot R Ry iR S1e $ftyam | | ifda & oF-a1 8¢ 82

Options :

1. % Wy
2. ¥ WA

3. % Jcdledl
4. % AT

Question Number : 222 Question Id : 60092910071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<@ e e B &

Options :

1. % 3T fayamy

2. % TR HEIC

3. % SfTER RGN

4. AR TS Y

Question Number : 222 Question Id : 60092910071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G Wi feaet oid 82

Options :

1. % 3fTad fayy

2. % 3fTAd T

3. % 3T HRFGY

4. ¢ 3T A Yo




Question Number : 223 Question Id : 60092910072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RR Te a1 3UHT ag] | AT 316071 31 &1 81 81" Ufad § BIF-41 SAPR 82
Options :

1. % gHAD APR

2. % TAY 3CPR

3. ¢ I 3AHR

4. % 3IUNT 3APR

Question Number : 223 Question Id : 60092910072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RR e a1 IYHT agl | AT 3BT I BT IS 81 1" Ufdd & HIH-97 3[edhR 82
Options :

1. % JHAD PR

2. % TAY PR

3. ¢ JU&T PR

4. % 3IUNT 3APR

Question Number : 224 Question Id : 60092910073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eg 1 Fory ifad & HRUT [hl! Reg &1 WIUROT TUT aferd a1 T 31 THS Sl §, 39 1 Hgd 67
Options :

1. % & Xeg fekT

2. % S Weg QT

3. ¢ AT Yo TR

4, % &¢I eg T

Question Number : 224 Question Id : 60092910073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g 1 o Vo o HRUT ot Req BT AR IUT Taiferd a1 G 3o T oifal 8, 39 o1 H5d 62
Options :

1. % T&IUT eg e

2. % ol Xeg KT

3. ¢ JHHYT Ysg Tl

4. % Fql Ysq Ul

Question Number : 225 Question Id : 60092910074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3 AT UST 3UR TST HY IR UR|

UM 3 T 39 UR, 99 I OS] 4T IY UR 1" H HIH-T7 3ABR 82
Options :

1. ¢ 3ffa=gifaa

2. % JgT

3. % ®UD

4. % THEGIHIO0

Question Number : 225 Question Id : 60092910074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3 AT TS 3UR ST HY IR UR |

30T = AT 39 UR, 99 d& 9IsT 41 39 UR | H -7 3[APR 82
Options :

1. ¢ 3ffa=aifad

2. % JgAT

3. % BUD

4. % HHJIHRT



Question Number : 226 Question Id : 60092910075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"ot =Tl 1Y H G e | ST THefe oebR WUl F7ep | | Ufeki H b IH-T 31efobR 82
Options :

1. % JUHT 3[CDPR

2. ¢ I DR

3. % 3TN STHR

4. % TP AADR

Question Number : 226 Question Id : 60092910075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI 1Y B g 1k | <1 iefe Ah Xqul e | |+ Ufad | HH-91 S[EHR 82
Options :

1. % JUAT ABR

2. ¢ JUEM 3B R

3. % Jffifed bR

4. % UG PR

Question Number : 227 Question Id : 60092910076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RfeH Ul ARIT fae urit I9 )

T 7T 7 ISR Hedt 7Y | B BH-T SABR ]2
Options :

1. % 3UHT

2. % Udg

3. ¥ N

4. % fqura




Question Number : 227 Question Id : 60092910076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RfeH Ul ARIT fa Uit I9

T 7T T ISR Hedt 7 | W BH-T SAPR ]2
Options :

1. % 3UHT

2. % Udg

3. ¥ N

4. % fqura

Question Number : 228 Question Id : 60092910077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUHY H IUAM & HUTGAT 81 TR DIH-9T SABR BT 62
Options :

1. % 3UHl

2. % ¥[Dh

3. & &

4. % Y

Question Number : 228 Question Id : 60092910077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H IUHM &I YU 81 TR DIH-T DR 8l 82
Options :

1. # 3UHT

2. # ¥Udh

3.« IHel

4. % TN




Question Number : 229 Question Id : 60092910078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foRad a1 & Rigror & o F-3 fafd ugal s Wal gial 87
Options :

1. ¢ WA Y Wi Bl 3R

2. % 3 Y I BT 3R

3. % Ffee 9 WA Bl 3R

4. % R Y GEH HI R

Question Number : 229 Question Id : 60092910078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forfad Yo & fRigor & SF-3 fafd ugd s/ 9el gia 82
Options :

1. ¢ TR Y Fed Bt 3R

2. % 3T A A DI 3R

3. % Sffed Y WA DI 3R

4. % R Y Y& I TRb

Question Number : 230 Question Id : 60092910079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Wm,wmﬁ$mwwmammw,wmﬁm$ﬁ%|"wﬁm$wgﬁu€aﬁmmm
0

Options :

1. % Sl pw fagRy iy

2. % S UFATY Tqaal

3. ¢ ST TSI PR

4. % g7 3ol faart



Question Number : 230 Question Id : 60092910079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"THSHTRT, U T3l & ot THRIR k9 TohiEd auT gHTied B+, UHTRM MR & &1 B g |" TASGIRAl & gat H g8 Sy fhaer
87

Options :

1. % Sl pw fagRt iy

2. % o YUY Tgdel

3. ¢ SIIGHI HIR

4, % 3o 3 faardt

Question Number : 231 Question Id : 60092910080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G S T8 WY T gl Sfered Qe Tae gt 52
Options :

1. % dlef P« Td

2. ¢ I IFRA HEATR

3. % YYTp W ¢Id

4. % faWe o

Question Number : 231 Question Id : 60092910080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G X139 TS MY 3T gt SHferes =Ny uee forant 82
Options :

1. #® dicdqPp <

2. ¢ 81 A YR

3. % YT W g

4. % fasure e




Question Number : 232 Question Id : 60092910081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAG-J7 & Aleide URHT "< Hleia- & Jued HiF 2
Options :

1. % YHdR YRl

2. ® GO UHl

3. % I M

4. ¥ FEIHARTC AR TG

Question Number : 232 Question Id : 60092910081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRUG-g7 BT HiigiA® URDT "< PIaferT" & Juad Hi 42
Options :

1. % YHAR YR

2. % YT b

3. % Jeg T

4. ¥ FEIHRTI0 AeRT T

Question Number : 233 Question Id : 60092910082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TRl UfADT 1 UHTRM e JR= §3H1?
Options :

1. % 1796

2. % 1890

3. ¥ 1896

4. % 1980



Question Number : 233 Question Id : 60092910082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AVRI YTRUT GADT T THIRM Hd IR g3
Options :

1. # 1796

2. % 1890

3. ¥ 1896

4. % 1980

Question Number : 234 Question Id : 60092910083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 fawmedl § ¥ HH-T WeThR & T B o arelt 3 T8l /2

Options :

1. ® ﬂT&‘II(ﬂbIQ%HHq IR

2. ¢ TIETHR & Y BT Y g TRGZH 8T

3. % HIETDH RGBS BT e ganig

4. % FreMhR H A Ysaraferdl o1 aRHIRd ST

Question Number : 234 Question Id : 60092910083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faswedl # ¥ HH- WempR & JHy Bt o arelt Ffe 781 /2
Options :

1. % II&ThR & JHY YH geRkTgc

2. ¢ FITHR &b U BT WY I TR g

3. % WIHTH RGN T - aiig

4. % FETHR T A Searaferdl ol R BT

Question Number : 235 Question Id : 60092910084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS Ao gRT 30 1A 3R faaRl &1 gaRl o T8l URdd HRA o i Tdhd g HTST &1 TN F1 Hadrdl 82
Options :

1. ¢ Aifas Sifiyeafad

2. % yquy

3. % T%H

4. % grEA

Question Number : 235 Question Id : 60092910084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Al GRT 307 HTal SR fIaRY &1 GOkl & qHel TR I 8 & Tahdl 8 HTST ST TANT 3T g allall 82
Options :

1. ¥ TR sifiefaa

2. % qu]

3. %A@

4. ® drd-

Question Number : 236 Question Id : 60092910085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fARITT= 10 THY 079 Wa TR §1d! & Jae & B 14-97 fadhey TTad 82
Options :

1. % <> ar QAR BT ORI HRAT

2. ¢ fOTU &1 Je 3R D! IuaId & IR | foagpa it 781 ford

3. % fQIUA Pt U ThH A 3R el g1 IRy

4. % HH Y H IdIE B [ARudral iR Hew &I THIEaRITE diid 3§

Question Number : 236 Question Id : 60092910085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fARITU S0 THY &7 Wa A1 §1al & Jae A HIH-971 fAdhed 7Tad 82
Options :

1. % <> ar @A BT U HRAT

2. ¢ fOTU &1 Je 3R D! IUaRId & 9R | foagpa it 781 ford

3. % fQIUA Pt U1 TheH TS 3R el gIH1 IRy

4. % HH Y H IdTE B [ARwdrael iR Hew &I THIEaRITE diid I ST

Question Number : 237 Question Id : 60092910086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § 37 Ruid oRee o1 7o fafd g2

Options :

1. % GAYYH GRIT BT 19 foraT ST AT

2. % gaaIfTdr &1 aRomd i g1 o 39T W Ieoid faear ST =iy
3. % TS & ATy 3R THT &1 a1 &1 ST 3y

4. ¢ 3{TASH RA HT A fora1 TR 781 §

Question Number : 237 Question Id : 60092910086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9 o Ruid e o1 o fafdr g2

Options :

1. % YY" YY1 T 19 forat S =nfgu

2. % giaaIfTdr &1 aRomd S g1 df 39T H oo foear ST =i
3. % IS @ fafy 3R THg &t g & ST T

4. TS Ryl T T forg1 o) 18l &

Question Number : 238 Question Id : 60092910087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SRR & SYFS a1y T Jad QR J1e9H HIA-91 6 2
Options :

1. % Ty Wy

2. % Squ Ty

3.« flic Arey

4. % HYT 1A

Question Number : 238 Question Id : 60092910087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & YA AT § T QR H1eqH HIH-A1 g 2
Options :

1. % SY-YJ HIYH

2. # HdUl HTH

3. ¢ fle AreH

4, % DY HYH

Question Number : 239 Question Id : 60092910088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3SR & YHTRH BT b (49 H 1 fberds gy foban mam
Options :

1. % IR §AR

2.« IS 19 g1

3. % TiAd! e

4. % YEAYR I

Question Number : 239 Question Id : 60092910088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRY 3EER & YDA b1 Hr 49 H & fodas gR1 iy




Options :

1. % HIeRa" gawR
2. 37 219 yTg
3. % Hiqdt TAeEE
4, % TYMAYER I

Question Number : 240 Question Id : 60092910089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 7 foqmoe &1 Yo He A g3
Options :

1. % 1923

2. % 1947

3. % 1823

4. % 1950

Question Number : 240 Question Id : 60092910089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 7 foqmoe &1 Yoo He A g3
Options :

1. ¥ 1923

2. % 1947

3. % 1823

4. % 1950

Discipline8
Group Number : 13
Group Id : 600929402

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 600929557

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929665

Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 60092910090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g Adt, Fad Aead , IR, UReR e & gRIBIC &F H [l 9 o TR TR & g o fasioe 1y foean S g2
Options :

1. % P fazmos

2. % 3N fagmaa

3. % TG gael fagmoa

4.« R faxo

Question Number : 241 Question Id : 60092910090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&g At , Fad Aead , IR, UReR S & gRIBIC &F H fhft axg & TR TR & g o3 fagmoe o1y faran Siran |2
Options :

1. % I oo

2. % 3frenfe fagmoa

3. % b carul geedt fagmA

4. ¢ Y famue

Question Number : 242 Question Id : 60092910091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oG T § I ARy iR are ARy srua 3iftyeg 3ref ) 1ot §1ehR 1y (s saad #d § 98 @i peard g " e & Jey
¥ g a9y fegeT 32

Options :

1. % fayFmy

2. ¢ 3fHaadq

3. % A

4. % ¢8l

Question Number : 242 Question Id : 60092910091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T B g fARIY 3R areg faRiy g SifiyeRy 31 &Y MoT 9T e (v orad HRd § 98 '@ Heardl g1 @ & ey
H g a9 fegeT 32

Options :

1. % fayry

2. ¥ 3FcayT

3. % T

4. % 43t



Question Number : 243 Question Id : 60092910092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & ARl B 62

Options :

1. ¢ WRagH

2. ¥ YT dicac

3. % 3T T

4. % 3T qHIC

Question Number : 243 Question Id : 60092910092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR & JFRAT D 52

Options :

1. ¢ WRag

2. % YT dlcac

3. % 3G

4. % 3Ta HHC

Question Number : 244 Question Id : 60092910093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yifies IHTd o) T it Al TS §
Options :

1. ¢ 3

2. % Y

3. % dR

4. % S

Question Number : 244 Question Id : 60092910093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hifdies THTE o1 T bt A1 TS &
Options :

1. ¥ 36

2. %

3. % IR

4. % g

Question Number : 245 Question Id : 60092910094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 o O D HIoadia & TITHR 82
Options :

1. ¥ VOTRIER

2. % HHC

3. % dieele

4, % drH-

Question Number : 245 Question Id : 60092910094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ B9 Hrouigigr & TTETER 82
Options :

1. ¢ OIRRER

2. % HHC

3. % dicale

4, ® drHd

Question Number : 246 Question Id : 60092910095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A o Iebifd & fha Hg 9 SUNG A §
Options :

1.¥ 6 9c,d 41 IUNS

2. % 79¢, 914 3U0a

3. % 41 9g,d 630G

4. % 9Ng, 920 3UNg

Question Number : 246 Question Id : 60092910095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3 depiia b fba Hg I IUNT AR §
Options :

1.¢ 69,941 IUNS

2. % 79,9 14 309g

3. % 41 4G, 96 3UNG

4. % 90, §20 390G

Question Number : 247 Question Id : 60092910096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & ¥ Y 70 &1 Rl Hig IH-91 52
Options :

1. ¥ e

2. % By

3. % 8l

4. % fde

Question Number : 247 Question Id : 60092910096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfed & ¥ dY T &1 RITR 11 HIH-97 82
Options :

1. ¢ e

2. % By

3. % B

4. % fdg

Question Number : 248 Question Id : 60092910097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed HeTehIed o ey H fU T Syl § J 3 HYH ! Ugaig|
Options :

1. % UGIHT Bt HUT TS T § TafRUd gl ey

2. % TGIHI BT A TRIGR 3R Hii- g A1y

3.  Frqul AR § 31 ¥ $fd da U & S 1 JaRT g1 91fey

4. % HgTHT | R , dR SR Xid H I H18 T X9 JUH ©U I g1 dligy)

Question Number : 248 Question Id : 60092910097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied HeTdred & Heiy § faT U Byl T ¥ 3 By B gy
Options :

1. % THETHIT B HUT TS W H HaRYd gl Ny

2. % AEIHTT BT A1 RIS 3R ol g Y|

3. ¢ U] HETHTd B TS I 3id I U B &G &1 TN 8H1 A1y

4. % TEIHTH U IR, IR 3R Uid & I PIs Th 9 YUH U J 41 A1y

Question Number : 249 Question Id : 60092910098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wid AT Hghr fha I BT o1 YIS WidR fhar




Options :

1. % PN
2. % dg Rals
3. ¢ qadie™
4. % DR

Question Number : 249 Question Id : 60092910098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wid YA HedhR fha I B BT YIS WIbR b
Options :

1. ® Jar

2. % dq Ralg

3. ¢ qadie™

4. % DR

Question Number : 250 Question Id : 60092910099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Had TARGH A Hid BT HH gH1 Aoy Ifad [Bud gRT e i 715 82
Options :

1. ® YRdg siex

2. ® SYRIH YIS

3. ¢ ARERR T

4. % gAPHid FUTST TR

Question Number : 250 Question Id : 60092910099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$had TR 7 Hid BT HH gHT AT I fhdd gRT ificaad &1 TS g2
Options :




1. ® YRdg sigx

2. % SORIHR TG

3. ¢ ARERR T

4. % Qhopia AUrdt FRrar

Question Number : 251 Question Id : 60092910100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jftiare a1 'SRIudTE fhd e &1 Hd g2
Options :

1. % YRagH

2. ¥ Yg dicac

3. ® Yo H

4. % YT

Question Number : 251 Question Id : 60092910100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SdfaTe a1 'SfRIvaTE {5y Sfrarf &1 7d 82
Options :

1. % WRagE

2. ¢ Yg diewic

3. % YoUn

4. % AT

Question Number : 252 Question Id : 60092910101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YY1 BT fAfRIY I 19 BRI 82
Options :

1. « T fagm




2. % gRAR
3.0% of
4, % Jod

Question Number : 252 Question Id : 60092910101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 1 fAfRIY 19 D19 HRIT /2
Options :

1. ¢ 4191 faq

2. % URAR

3. % orf

4. % eI

Question Number : 253 Question Id : 60092910102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BUNRTG! St o TR & St Sl 52
Options :

1. % fogR

2. ¥ TH UG

3. % g

4. % ool

Question Number : 253 Question Id : 60092910102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUTE Sl fob el U= H aiieft STt 82
Options :

1. ® fogR

2. ¥ TA TSR



3. % gRarom
4. % focant

Question Number : 254 Question Id : 60092910103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T WTST 7 312 T B2
Options :

1. % 3refrmreh

2. % It 3R TS B AT Y T HTHT
3. ¢ 3UY o AN Y F1 Yeg ST
4. % gRITura A3 ISR HToT

Question Number : 254 Question Id : 60092910103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt w1 37 T B2
Options :

1. % 3refrmreh

2. % 3aeft 3R ST B AT Y T HToT
3. ¢ 3UYR b INT Y -1 Y[ ISR
4. % gRaTordt RS TSRATAT HTHT

Question Number : 255 Question Id : 60092910104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTST fOT 3reaaq & forg Irnht gl & U801 vl 62
Options :

1. % QNN Bl Hel-grl oaral o

2. % fage fagm 9

3. ¢ TEfad YT 3R Wifgd §




4. % YA fRrefreral @

Question Number : 255 Question Id : 60092910104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT fOT 3reaq & forg Irnht el T U8 vl 82
Options :

| % ST ) e e

2. % A< fag= 9

3. ¢ TAfeTd WIS 3R Aifgd ¥

4. % YA fRrefreral 9

Question Number : 256 Question Id : 60092910105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot HTST b1 SRw H fUivTer 14 o v
Options :

1. ® 3adi

2. % Gl el

3. ¢ SSTHIYT

4, % USR]

Question Number : 256 Question Id : 60092910105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fop T &1 SIR™Y et A fear mam
Options :

1. % 3fqdi

2. % Gl el

3. ¢ SOTYHIY]

4. % USR]



Question Number : 257 Question Id : 60092910106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1o QAT Sfe, Ta I B G I8 Ufad v Hid & gRT foredt 718 g2
Options :

1. % ARYCIRROT I

2. % FYRMIRU I

3. ¢ URdg gRY%

4. % I R Furdl

Question Number : 257 Question Id : 60092910106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST yTen A 31e, Ta I B gt I8 Ui ford wfa & g foredt 718 g9
Options :

1. % HRCHRRO T

2. % YRR

3. ¢ URdg gRY%

4. % W =R TSt

Question Number : 258 Question Id : 60092910107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31eTTE Wl gRT HIH- JRaeh fort 82
Options :

1. ¢ I had! Bl BT
2. % UHATR

3. % HipwraRd

4. % gy



Question Number : 258 Question Id : 60092910107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2T 31cATE Wi gRT HIHF-Y1 s ot 82
Options :

1. ¢ I HdDb! Bl Bl
2. % YHAR

3. % Jipwraig

4. % g9

Question Number : 259 Question Id : 60092910108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEaae it freet Ta 52

Options :

1. % fidrafor

2. % Il

3. ¥ HURMH

4. % HdR$H

Question Number : 259 Question Id : 60092910108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedaRfiuft fbaes! To &2

Options :

1. ® feqmafor

2. % 191d

3. ¥ PURMH

4. % HdRP

Question Number : 260 Question Id : 60092910109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

geeIUTel ATH® HEIHId & TAfdl HIF 82
Options :

1. % BIHR MUTARRYT Rig

2. ¢ AR UIUsy

3. % JUAIHHAR! AgH

4. % TIGATE Idde)

Question Number : 260 Question Id : 60092910109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g UTe) ATHS HEThTe & Al DI 82
Options :

1. % BIHx MUTaRRl &g

2. ¥ YEARMU U0y

3. % GUITHHAR AgH

4. % ARG Iddet

Discipline9
Group Number : 14
Group Id : 600929403
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline9

Section Id : 600929558
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 12
Number of Questions to be attempted : 12

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929666
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 60092910110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g & SICa BT JUE & TWH HH 62
Options :

1. % 33Y

2. % NI

3. ¥ BERATY 3FTETd

4. % HIFUETG Ay

Question Number : 261 Question Id : 60092910110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i & STCa HTog IUE & AWH HH &2
Options :

1. % 3R

2. % AN

3. ¢ BERAY SUATA




4. % YgHIUTG Y

Question Number : 262 Question Id : 60092910111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
arach fhuem! ST Fid 872

Options :

1. % TG Hid

2. ¢ Jada™

3. % 43t

4. % goRyTE fgaeh

Question Number : 262 Question Id : 60092910111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfiaradh frae! w1 Fid 52

Options :

|. ¥ MR Hfd

2. ¢ AN

3. % 43t

4. * GORIYRTG fgddt

Question Number : 263 Question Id : 60092910112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G 1 T T ST WU 72
Options :

1. ¥ THTHR AT

2. % g h A

3. % gUId

4. % 33T




Question Number : 263 Question Id : 60092910112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 AT a1 HTed g &7
Options :

1. ¢ JHTHR HI=Id

2. % g AIh A

3. % ORI

4. % 33T

Question Number : 264 Question Id : 60092910113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R Sft A I Woq b1 Il feb e R A 82
Options :

1. % I qeg Y

2. % P s Y

3. ¥ WO WG ¥

4. % YA

Question Number : 264 Question Id : 60092910113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el it 3 I Weq, B I fhTeb gRT AT 82
Options :

1. ¥ I et

2. % Db UYsg U

3. ¥ WA e A

4. % G Y



Question Number : 265 Question Id : 60092910114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"I & &UT" fhah! Hidd g2
Options :

1. ¥ 3R

2. % giqady

3. % TR aH

4. % faTpY

Question Number : 265 Question Id : 60092910114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"FoAT & & fhadh! iad g2
Options :

1. ¥ 3R

2. % gfaqary

3. % YAqcfiaRor gt

4. % fgTax

Question Number : 266 Question Id : 60092910115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 H & B4 Ty e R1 = Hid 6T 82

Options :

1. % g P RIAT IR
2. % gAY

3. % QA O AT | S
4. ¢ QRR

Question Number : 266 Question Id : 60092910115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

0 & 9 HH-I ATy Rig gR1Fad Hfa 781 82
Options :

1. % q0g &I RIATWR

2. % ¥ UMY

3. % QH S AT H S

4. ¢ QRIIR

Question Number : 267 Question Id : 60092910116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I BT SUTIHRU B B Plg oIexd ol 8, TR T & faRlY & 11 R AS B faipd gl dI 1 309 &1 sRevd gl g 1"
fFad gRT Hel 7T aTay 82

Options :

1. % RIS AR AR

2. ¢ YHAR HRAT

3. % WA Rig

4. % iR UIeHh

Question Number : 267 Question Id : 60092910116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"fEH T SUTIHRU B DI Dls Rexd el &, IR U & ORIy & T R AegeTd H faigpd gedi &1 ot 3o & Sevd T8l g I
fPd® GRT BT 1 a1 ]2

Options :

1. % RS $UR AR

2. ¢ YHAR YR

3. % WA Rig

4. % iR UIGH




Question Number : 268 Question Id : 60092910117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG U (1, 2 3R 3) frae! T 82
Options :

1. ¢ 4ltR UIgeh

2. % T

Question Number : 268 Question Id : 60092910117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG | (1, 2 3R 3) fba T 82
Options :

1. ¢ gleR UISh

2. % AUl

Question Number : 269 Question Id : 60092910118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS EREIEICIEE %‘?

Options :

1. * U4l

2. % fRran

3. % gRaMy

4.+ Ud

Question Number : 269 Question Id : 60092910118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

REIIRA fh g hT HTH TUT %?
Options :

1. % Ydlq

2. % fARren

3. % giRafiy

4. ¢ Ud

Question Number : 270 Question Id : 60092910119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GG Ud B IHUIS QREBR U food 31 o forg fira
Options :

1. % G 3R T 3G

2. ¢ feqrR

3. % Uceld

4. % gIid

Question Number : 270 Question Id : 60092910119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GG Ud & AMUTS GRIBR SOt ford a1 & ferg e

Options :

1. % Hal AR ggl diq

2. ¢ g

3. # Uid

4. % QId

Sub-Section Number : 2

Sub-Section Id : 600929667
Question Shuffling Allowed : Yes




Question Id : 60092910120 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

frafefad Sigarur o) ergde Ufey 3R IO9 Trfid Uil & fou U sgfdeedl # ¥ I8} faeey 3 gy

e T YR &1 UTT: Yo 31fee WIHTAS BT UT| g1 HRUT G fob 37151 db HRA BT A 39 BT B 3R IR-TR Y I W1 g1 dfedh
3T 30 T P! WUIHTd FHgd A A1 181, T8 §H el SIHd; fbq 31 Wi gH auiehTd & TH1H 3axy fexars <a1 8 | At 51a sl g &l
3R oI, afcdh THIS &1 Ui G it SR Riae! & ol IUD! SHTara-T $RY §1 T8 | §1g T 3 DAl I 3TN & YA sficiad &
T Y11 STEHUN BT AFell & 9o g 7 [9s1s &1 U=R foan o, g Siifd-ut & fRI & 3R 9 7S &1 ST 81, HHUM 9T 1 Syd
A A1 AR ) Ryeqolt 9 1 SR S I2IA U8 Sdran ol fo Higl had goul & & Rt 721 8, 39! sifeiof At +i &)
T gl G B! J ARI 1 HRA D1 TG a1 ¢ AR G5 & THT F SRI6R 39 G/ H U AT Sd 81 3@ &, il ofiid-HT & faRiedt 3, S 7
DI ST g, HHUN AT I7 314 JHgId A1 fohg g H Snyfed 9 90d a1d 78 ot fs 9 Fafiardt 9, Tewl o & 3 3 fiyey-od &1 9%
BEERRY anﬁaw%@rémassaﬁ-a@gqma‘rwm SeTHx FHTS BT URUI-UIVU] - & AR &, F-TT 81 T4 | ST bl T
T faRIfA TR B |

Sub questions

Question Number : 271 Question Id : 60092910121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRE & TR AT & fawa & g & a1 famm &2
Options :

1. * % 3 ifo Tt gt

2. ¢ AR oft Higl BT SHIBR B

3. % fo5 3 STty T faRiedt gicht 8

4. % fob 38 o0 9 HY HABR gIHT1 A13Y

Question Number : 272 Question Id : 60092910122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§G 1 HH-U! I YHwal & Ja¢ H 31 Tal Te?
Options :

1. % & iy o, e ad A ey g




2. % Tef Ppad gl & U g
3. % e e o8 o 2
4 > e o, g ot @ Py

Question Number : 273 Question Id : 60092910123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
< P URUM BT deh| TR T YU §3AT?
Options :

1. ¢ d GRIT §1 7Y

2. % IR IS MY

3. % dgg & R g1 Y

4. % d AN & I H @Y

Question Number : 274 Question Id : 60092910124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fasmed! & & HH-91 Higf BT TaaTdl st o1 57
Options :

1. % 3{uar

2. % IRYMH

3. ¢ §YF

4. % fafor

Question Number : 275 Question Id : 60092910125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U Y 3ffwse &1 eish XMua oy
Options :

1. % gapi &l Iid

2. ¢ 9 P! [dIRYRI I YUTG

3. % gHS & =l




4. % GG DT FAN

Question Id : 60092910120 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

frafad sraaRur &1 eryde ufeu 3R ST e uslt ¥ fou MU agfawedl o § el fawen & gy

e T YR &1 UTT: T 31fee WIHTA® BT UT| g1 HRUT G fob 37151 db HRA BT A 39 BT B 3R IR-§R Y I W1 g1 afed
3T 3 1 Y TWuiehTel hed U I1 e, T8 §H Tl oiF; fbd S1eT TH 8% WuichTat o JHH 3fa<y faxars <ar § | Afdh oid slig g T
IRY g3, dfcd THIS B! Ui G- it 3R il & o ST AT 3R 81 T8 | Sl I 3 V4! I 31151 & MY e &
T UTI ST b ATl & (3% g A [as1g &1 JaR foban o1, g - & fARIeh ¥ $iR & s &1 =01 81, U 48 a1 Sied
A A1 RT3 Ryeolt 819 7 SRPR S So1 U §araT U1 [ Hiel o Tou & g1 (it el 8, 39! sifieiof At i &
T ¢l G B! J ARI 1 HRA D1 TG a1 ¢ AR G5 & THT F SRI6R 39 G/ H U AT S 81 3@ 8, N ofiid-HT & faRiedt 3, St 7
I SEAT Tal, HHOT AT AT 31eH T 3| fhg §5 H SMYHdmdr 9 90a a1d I8 ot for o Fghrare! 2, Tewlt & & 3 9 e &1 98
Tagd ¥ | 301 ﬁTU%‘@r?rQT?F EURI-ARA| gadh Sl ST ST FHTST BT HRUI-UINU 6 b AP o, H-R g1 T | =T bl AT
TSR ST g |

Sub questions

Question Number : 271 Question Id : 60092910121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Jwde & TR AR & fawd & g5 & 1 fdaR &
Options :

1. % fo5 3 o el gl

2. ¢RI it A B ifUBR §

3. % o o STc-g1 B forieh gieft ©

4. % f& 3¢ 7o Y HH YBR T A1GY

Question Number : 272 Question Id : 60092910122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§G &I DIH-I §1d YD & Gae T Sl el e
Options :




1. % T fy oo, e a9 Moy §
2. ® Tigl bad goul & U R

3. % IRl el & st §

4. fo5 e i, g e A gy 8

Question Number : 273 Question Id : 60092910123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G D1 URUN &1 gdoh! TR AT YHTT §3HT?
Options :

1. ¥ d GRIT BT 7Y

2. % IR PR IS MY

3. % dgg & [ g1 Y

4. % d GHS & I H Y

Question Number : 274 Question Id : 60092910124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T fadeul § & HIH-91 Hig &1 yafaare st Tol o2
Options :

1. % 3uai

2. ® WYY

3. 9 YA

4. % fgior

Question Number : 275 Question Id : 60092910125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 3rfwbe &1 Al My ey

Options :
1. % gdo! D A
2. ¢ §g P! [dIRYRT 9 UG




3. % gl DI {T
4. % g BN

Sub-Section Number : 3
Sub-Section Id : 600929668
Question Shuffling Allowed : Yes

Question Id : 60092910126 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)

Frofid S1ei & ergds ufeu $iR ST T usit 3 T U sgfacwedt § @ 96} fawey &) gy
TS gl fhvur 39+t T @, Yedh g1 S it & a7 o

Afer foraes 7= o ot 2w g e Bt v

T Gl fRu 38 i 2

A, H I R, 9 TSR & ga

o TS g WWWWﬁW%WW%a’H
aﬁ\—sﬁw@ﬁ S H IR & Sredt
T9-UcAd TR 31T i {HR0T, TH S ST 3@ &l
W%mwﬁﬁ&ﬁ@‘ftw@ﬁw,

T SNt foRaRTd 81 Y TR, IR T, TY B S&TRId B U [hor 4§
G Y J1T STalfhd HR Tl

THh WY 39 Ht A 77 T SI]d & & |

Teh ggall {hRo1 I 1t ¢ &l | Hedh -1 S IR & a1 ||

Sub questions

Question Number : 276 Question Id : 60092910127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T H Hfd Ged fEru fpa 37 & Riw wg w1 R?
Options :

1. % S 3d $© Yl ST g1 gl

2. % f% U 9gd 6 & dUT IR HI g i

. s d e g s ol ag

4. % S quft Sl Y Sfidar sET g




Question Number : 277 Question Id : 60092910128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hf3 ol & oo ua fFA 3 S R s @
Options :

1. % o ST 9gd We §

2. ¢ ST 30 G T SHfTad AT Y T ]
3. % S foll 1 @ I UgamT §

4. % TS1Y 3q Sifdd Xg 1 <18 Toi

Question Number : 278 Question Id : 60092910129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hfa foreres 17 & W WA & fou Hg @1 R
Options :

1. ¥ O YT TS

2. % foR) QU T Ui B

3. % f9% U 99 $© § WileA & fou

4. % S AGI@I 8

Question Number : 279 Question Id : 60092910130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu e faent & T HH-91 ATH o BT TR Teg TR 72
Options :

1. # 3}

2. % 3P

3. % g

4, ARSI

Question Number : 280 Question Id : 60092910131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT BT Ierd 2w gy
Options :

1. % S Hfdd

2.« JHIG i fabrum

3. % IHpd ol

4. % dicH DI A18

Question Id : 60092910126 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)
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Sub questions

Question Number : 276 Question Id : 60092910127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T H Hfd Ged fEru fpa 37 & Riw wg w1 R?
Options :

1. % S 3d $© Yl ST g1 gl
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Question Number : 277 Question Id : 60092910128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SR ST sgd W §

2. ¢ ST 30 gl B ST BT Y T §
3. % O et o1 po TRW U ®

4. % T3 319 Sfifdd X8 &1 918 sl

Question Number : 278 Question Id : 60092910129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$fq forads 791 T WY WRA & ol H8 @1 62
Options :

1. S0y YT BT B

2. % o AU G&T UG §

3. % fod U 96 $6 § WIg & forg

4. % S AGIGI 8

Question Number : 279 Question Id : 60092910130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3R

2. % 3P

3. % g
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Question Number : 280 Question Id : 60092910131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % SRS fekd
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3. % IHd ol
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Teaching Methodology
Group Number : 15
Group Id : 600929404
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 600929559
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929669
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 60092910132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
means making a connection between an artificial stimulus and natural response.

Options :

1. # Conditioned Stimulus
2. % Unconditioned Stimulus
3. # Neutral Stimulus

4. ¥ Conditioning

Question Number : 281 Question Id : 60092910132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 31 § T HHA IE U 3R UIHhfas ufafehar & aig A&y s
Options :

1. % hisyrs fegey
2. % 3FHISYHS ey

3. % oo Regew
4. ¥ Ur{HaA

Question Number : 282 Question Id : 60092910133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of Bruner's intellectual development, learning can be obtained through using models and pictures?
Options :

1. # Final Stage



2. ¥ Second Stage
3. # First stage
4. # Enactive Stage

Question Number : 282 Question Id : 60092910133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® SifdH =)o

2. ¥ IR =R

3. % PYH =ROT

4. % ZUfGeq ol

Question Number : 283 Question Id : 60092910134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory was developed by Gestalt Psychologist?
Options :

1. % Psychoanalysis

2. # Trial and Error

3. ¥ Insight Learning

4. % Hijerarchical

Question Number : 283 Question Id : 60092910134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. ¢ e e
4. % UGIIchitich

Question Number : 284 Question Id : 60092910135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which theory, as people worked together rhythmical grunts emerged which duly involved into language ?
Options :

1. # Onomatopoeic association

2. # Spontaneous exclamations

3. % Sound symbolism

4. ¥ Yo-he-ho theory

Question Number : 284 Question Id : 60092910135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 285 Question Id : 60092910136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process which shows how the message needs to be communicated.

Options :
1. % Language
2. ¥ Speech

3. # Schema



4. #* Questions

Question Number : 285 Question Id : 60092910136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a8 Uferd § S oIl § o T &1 5l ST reA Bt Sfraxasha g |
Options :
1. # HNT
2. % HYU[
3. % WA
4. % gyl

Question Number : 286 Question Id : 60092910137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The basic factors of education are pupil, teacher, educational institution and
Options :

1. ¥ curriculum
2. % stationary
3. # uniform

4. % transport

Question Number : 286 Question Id : 60092910137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 287 Question Id : 60092910138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The deliberate killing of newborn female children is known as

Options :

1. # Female Foeticide
2. % Homicide

3. ¥ Female Infanticide

4. % Amniocentesis

Question Number : 287 Question Id : 60092910138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % A9 gl

3. ¢ Higell fRIg gy

4. % TR

Question Number : 288 Question Id : 60092910139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
meaning servant of God, were supposed to live the life of celibacy.

Options :

1. # Sati

2. # Jauhar
3. % Widow
4. ¥ Devdasis

Question Number : 288 Question Id : 60092910139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
[. % Tt
2. % TR
3. % fagar
4. ¢ qacIi

Question Number : 289 Question Id : 60092910140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of Indian Evidence Act, presumption can be made as to the absence of consent in certain prosecutions for rape?
Options :

1. % 228A

2. ¥ 114A

3. % 164A

4. % 376(A)

Question Number : 289 Question Id : 60092910140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 228A

2. ¥ 114A

3. % 164A

4. % 376(A)

Question Number : 290 Question Id : 60092910141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What can be defined as a gathering of people for the purpose of discussing a stated topic?
Options :

1. ¥ Seminar

2. % Assessment

3. % Debate

4. # Portfolio

Question Number : 290 Question Id : 60092910141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ QAR

2. % Jlhd-

3. % gre-faarg

4. % O

Question Number : 291 Question Id : 60092910142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What describes student’s performance or progress in relation to others of the same peer group, age or ability?
Options :

1. % Criterion - referenced Interpretation

2. % Summarised Interpretation

3. # Planned Interpretation

4. % Norm - referenced Interpretation

Question Number : 291 Question Id : 60092910142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AMES - Yaid aamre
2. % JARISTS SeXUcyH
3. % faifoTd saren

4. ¥ A - Fad sare

Question Number : 292 Question Id : 60092910143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are typically standardized tests used for the purposes of accountability.

Options :

1. # Pre-assessment

2. ¥ High stakes assessment
3. % Formative assessment

4. % Summative Assessment

Question Number : 292 Question Id : 60092910143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # g4 3had

2. % 3= UUT Hlh -
3. % QT T
4. % GRIRIT rFHC

Question Number : 293 Question Id : 60092910144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which parenting is characterised by the use of harsh disciplinary methods and refusal to justify disciplinary actions?
Options :



1. # Permissive Parenting
2. # Low Socio-economic Status
3. ¥ Authoritarian Parenting

4. ® Peer Association

Question Number : 293 Question Id : 60092910144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TRARYT W
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4. % ot I

Question Number : 294 Question Id : 60092910145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the expansion of ADHD?
Options :

1. # Attention Deficiency Hyperactivity Disorder
2. ¥ Attention Deficit Hyperactivity Disorder

3. # Attention Deficit Hypertension Disorder

4. ® Attention Defensive Hyperactivity Disorder

Question Number : 294 Question Id : 60092910145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefaa & § &9 ADHD &1 fawR 82
Options :

1. % 3T SfhREH grRfacfadt fEgaiier



2. ¢ 3¢ SfhRie FiRfdefact fewaiiay
3. % 3T Sfhfye grsuReyH fegaiiar
4. % 31z fethRg grRfaefadt fegsiier

Question Number : 295 Question Id : 60092910146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Learning disabilities in language is known as
Options :

1. ¥ Dysphasia

2. % Dyslexia

3. # Dysgraphia

4. % Dyspraxia

Question Number : 295 Question Id : 60092910146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ f&wIiyer

2. % 3Uysd

3. % fegaftearn

4. % fSfqgar

Question Number : 296 Question Id : 60092910147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of Erik Erikson's theory of psycho-social development, the individual tends to develop a sense of intimacy or commitment to a
close relationship with another person?

Options :
1. # Stage IV
2. # Stage V



3. ¥ Stage VI
4. % Stage VII

Question Number : 296 Question Id : 60092910147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® TRUTIV
2. % TRUTV
3. ¥ TRUT VI
4, % XS VII

Question Number : 297 Question Id : 60092910148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first coined the term 'Intelligent Quotient' ?
Options :

1. # Hans Jurgen Eysenck

2. % Burrhus Frederic Skinner

3. % Ivan Pavlov

4. ¥ William Stern

Question Number : 297 Question Id : 60092910148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 60092910149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Hans Jurgen Eysenck, introversion-extroversion dimension has its basis in the functioning of
Options :

1. # Autonomic Nervous System
2. ¥ Ascending Reticular Activating System
3. # Neuroticism

4. ¥ Psychoticism

Question Number : 298 Question Id : 60092910149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1O dRABT Joelt

2. ¢ JRIG! SCIGR Hichd HOTeT
3. % IR

4. % TDIfARRA

Question Number : 299 Question Id : 60092910150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is considered as an approach to foster a more empowered consciousness among participants.

Options :
1. ¥ Critical Pedagogy
2. ¥ Educational Drama

3. # Multidimensional approach



4. ¥ Multidisciplinary Approach

Question Number : 299 Question Id : 60092910150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 300 Question Id : 60092910151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What involves imaginative transformation and reflection on experiences, helps students expand their ability to act out thoughts in their mind?
Options :

1. % Art

2. # Dance

3. % Drama

4. ¥ Debate

Question Number : 300 Question Id : 60092910151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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